Central Teacher Eligibility Test
Paper-II (Classes VI-VIII)

Social Studies/Social Science
Solved Paper-30 July, 2019

PART-I : CHILD DEVELOPMENT AND PEDAGOGY

1. To understand individual

differences in development it is

important

(a) to look at the environmental
factors that affect individuals.

(b) to consider maturation of the
body and the brain.

(c) to consider both inherited
characteristics as well as
environmental factors and
their interplay.

(d) to look at the inherited
characteristics that give each
person a special start in life.

. Which of the following is not a
principle of development?

(a) Development is relatively
orderly.

(b) Development takes place
gradually over a period of
time.

(c) Exact course and nature of
development is determined at
the time of birth itself.

(d) Individuals develop at different
rates.

. Several research studies show
that teachers have more overall
interaction with boys than girls.
What is the correct explanation
for this?

(a) Boysneed more attention than
girls.

(b) This is an example of gender
bias in teaching.

(c) Boys are easier to mange than
girls in the classroom.

(d) Boys have much more academic
capabilities than girls.

4. Which of the following is central

to the concept of progressive

education?

(a) Belief in the capability and
potential of every child

(b) Standard instruction and
assessment

(¢) Extrinsic motivation and
uniform assessment
parameters

(d) Textbook centric learning

. What instructional adaptations

should a teacher make while

working with students who are

'Visually Challenged'?

(a) Use a variety of visual
presentations.

(b) Orient herself so that the
students can watch her closely.

(c) Focus on a variety of written
tasks especially worksheets.

(d) Speak clearly and use a lot of
touch and feel materials.

. Co-operative learning and peer

tutorting in an inclusive
classroom.

(a) should be actively discouraged
(b) should be occasionally used
(c) should not be used

(d) should be actively promoted

. Which of the following is most

important in an inclusive

classroom?

(a) Standardized testing

(b) Promoting competitive
learning

8.

10.

(c) Individualized education plan

(d) Uniform instruction

Which of the following is a correctly

matched pair of learners and their

primary characteristics?

(a) 'Dyslexic' learners — Lack
reading and writing fluency

(b) Creative learners -
Hyperactive; slow in
completing work

(c) Attention deficit learners —
High motivation; can sustain
attention for long periods of
time.

(d) Hearing impaired learners —
Cannot comprehend visual
information

. The ability to come up with

original and divergent solutions

to a problem is a primary

characteristic of

(a) Impaired children

(b) Creative children

(¢) Children with learning
disability

(d) Egocentric children

Which of the following would not

be consistent with a constructivist

environment?

(a) Students work collaboratively
and are given support to engage
in task-oriented dialogue with
each other.

(b) Teachers elicit students'
ideas and experiences in
relationship to key topics
and plant teaching-learning to
elaborate or restructure their
current knowledge.
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11.

12.

13.

14.

15.

(¢) Teachers employ specific
end of the term assessment
strategies and give feedback on
products rather than processes.

(d) Students are given frequent
opportunities to engage in
complex, meaningful, problem-
based activities.

A teacher should encourage

students to set rather than

(a) perfromance goals; learning
goals

(b) failure avoiding goals; marks
seeking goals

(c) marks seeking goals; failure
avoiding goals

(d) learning goals; performance
goals

Which of the following does not

result in meaningful facilitation of

learning?

(a) Promoting repetition and recall

(b) Use of examples and non-
examples

(¢) Encouraging multiple ways of
looking at a problem

(d) Connecting new knowledge to
pre-existing knowledge

Which of these is an example of

extrinsic motivation?

(a) “Ilearnsomuch whenIdomy
homework.”

(b) “Doing homework makes
me understand my concepts
better.”

(¢) “I Complete my homework
because the teacher gives us
marks for each assignment.”

(d) “I enjoy doing my homework
because it is so much fun.”

In a primary classroom a teacher

should

(a) give only non-examples

(b) give both examples and non-
examples

(c) not give any examples and
non- examples

(d) give only examples

Which of the following strategies

would promote meaning-making

in children?

16.

17.

18.

19.

(a) Transmission of information

(b) Using punitive measures

(¢) Uniform and standardized
testing

(d) Exploration and discussion

Which of the following are

examples for effective learning

strategles?

(i) Setting goals and time tables

(i) Making organizational
charts and concept maps

(iii) Thinking of examples and
non-examples

(iv) Self-questioning

@ @@ @) )
(b) @ @) (i) ()
(© @ @) (i) @Gv) (V)

(d @) @) (i)

In the constructivist frame child

is viewed as

(a) ‘tabula rasa’ or ‘blank slate’
whose life is shaped entirely
by experience.

(b) a ‘passive being’ who can be
shaped and molded into any
form through conditioning.

(¢c) a ‘problem solver’ and a
‘scientific investigator’.

(d) ‘miniature adult’who is less than
adult in all aspects such as size,
cognition, emotions.

A teacher’s role while using co-

operative leaning in her class —

(a) 1is to leave the class and let
children work on their own.

(b) is to support and monitor each
group.

(c) 1is to support the group which
has the ‘bright” and ‘talented’
children.

(d) istobe asilent spectator and let
children do what they want.

Children’s errors and mis-

conceptions—

(a) areahindrance and obstacle to
the teaching-leaning process.

(b) should be ignored in the
teaching-learning process.

(c) signify that children’s
capabilities are far inferior
than that of adults.

20.

21.

22.

23.

24.

25.

(d) are a significant step in the
teaching-learning process.
According to Piaget, specific
psychological structures
(organized ways of making sense

of experience) are called

(a) schemes

(b) images

(c) mental maps

(d) mental tools

“With an appropriate question/

suggestion, the child’s uderstanding

can be extended far beyond the

point which she could have reached

alone.” Which construct does the

above statement highlight?

(a) Equilibration

(b) Conservation

(c) Intelligence

(d) Zone of proximal development

According to Lev Vygotsky, basic

mental capacities are transformed

into higher cognitive processes

primarily through

(a) social interaction

(b) stimulus-response association

(c) adaptation and organization

(d) rewards and punishment

Which of the following statements

denotes the relationship between

development and learning

correctly?

(a) Learning takes place
irrespective of development.

(b) Rate of learning far exceeds
the rate of the development.

(c) Development and learning
are inter-related and inter-
dependent.

(d) Development and learning are
not related.

One of the major accomplishments

of concrete operational stage is

(a) Ability to conserve

(b) Hypothetic-deductive
reasoning

(c) Secondary circular reactions

(d) Animistic thinking

Constructivists such as Jean Piaget

and Lev Vygotsky view learning as

(a) conditioning of responses

(b) passive repetitive process
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26.

27.

(c) process of meaning-making by
active engagement

(d) acquisition of skills

Selecting and presenting stories

and clippings from newspaper that

portray both men and women in

non-traditional roles is an effective

strategy to

(a) promote gender constancy

(b) encourage stereotypical gender
roles

(c) counter gender stereotypes

(d) promote gender bias

Read the following description

and identify the stage of moral

reasoning of Kohlberg.

Description:

Right action is defined by self-

chosen ethical principles of

conscience that are valid for all

humanity, regardless of law and

social agreement.

(@) The social — contract
orientation

(b) The social — order maintaining
orientation

(c) The universal ethical principle

28.

29.

(d) The instrumental purpose
orientation

As per Howard Gardner’s theory

of multiple intelligence, how would

the intelligence of a person with
the following characteristics be
categorized?

Characteristics:

“Ability to detect and respond

appropriately to the moods,

temperaments, motivations and,
intentions of others.”

(a) Intrapersonal

(b) Interpersonal

(c) Therapeutic

(d) Naturalistic

Which of the following should

be the reasons for assessment of

children?

(i) Toseparateandlabelchildren
into ‘non-achievers,’” ‘low-
achievers,” ‘average’ and
‘high-achievers.’

(ii) To improve teaching-
learning processes in the
classroom.

(iii) To find out what changes
and progress in learning that
takes place in the child over
a period of time.

To discuss the capabilities,
potential, strengths and
challenging areas of the child
with the parents.

(@ (@ @) (i)
(b) (@) (i) (iv)

(c) (1) (iv)

(d @ @) (i) (@Gv)

30. Which of the following play
an important role in a child’s
socialization?

(i) Media

(ii) School

(iii) Family

(iv) Neighbourhood

(a) (i) (i)

(d @ @) (@1v)

(¢ @ @) (i) (v)
(d) (i) ()

(iv)

PART-II : SOCIAL STUDIES/SOCIAL SCIENCE

Direction : Answer the following
question by selecting the correct/most
appropriate options.

31.

32.

Assertion (A) : It will be 7:30 p.m.

in India, when it is 2:00 p.m. in

London.

Reason (R) : India is located east

of Greenwich at 83°30'E.

Select the correct option from the

given alternatives.

(a) (A)is false, but (R) is true.

(b) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(c) Both (A) and (R) are true, but
(R) is not a correct explanation
of (A).

(d) (A) is true, but (R) is false.

Consider the statements A, B, C on

time zone and choose the correct

answer:

33.

A. Some countries have a great
longitudinal extent have a
great longitudinal extent and
so they adopted more than
one standard time.

B. The earth has been divided
into twenty-four time zones
of one hour each.

C. Each time zone covers 15° of
longitude.

(a) A and C are correct and B is
incorrect.

(b) B and C are correct and A is
incorrect.

(¢) A, B, C all are correct.

(d) A and B are correct and C is
incorrect.

Choose the correct arrangement

of atmosphere's layers beginning

from earth's surface:

(a) Troposphere, Stratosphere,
Mesosphere, Thermosphere,
Exosphere

(b) Exosphere, Stratosphere,
Mesosphere, Troposphere,
Thermosphere.

(c) Mesosphere, Troposphere,
Exosphere, Stratosphere,
Thermosphere

(d) Stratosphere, Mesosphere,
Thermosphere, Exosphere,
Troposphere

34. Seasons occur due to which of the
following reasons?

(a) Tropic of Capricorn receives
direct rays of the sun falling
vertically at 231/2° S,

(b) Revolution of the Earth and
inclination of its axis in the
same direction.

(c) Circle of illumination caused
due to rotation of the earth
around its axis.

(d) Axis ofthe Earth makes an angle
of 6612° with its orbital plane.
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35. The major constituents of earth's (¢) The increased salt content (c) Women are nurturing.
atmosphere by percentage is : makes the sea dense. (d) Women are very emotional.
(a) Carbon dioxide (d) Winds blow at a very high speed 47. Which of the following composed
(b) Nitrogen over the surface of sea water. the main demand of the
(c) Helium 41. Consider the statement A and B suffragettes?
(d) Oxygen about land use and choose the (a) Right to bureaucratic roles for
36. Which of the following statements correct answer: women.
about ocean currents is/are A. Land use refers to use of land (b) Adult franchise for propertied
correct? exclusively for agriculture women. ' '
A. The cold currents carry water and forestry. (c) Adult franchise for working
from polar or higher latitudes B. Land use is primarlly deter- class.
to tropical or lower latitudes. mined by its topography. (d) Right to vote for women.
B. Labrador is a warm current. (a) Ais false and B is true. 48. Which of the following statements
C. Areas where warm and cold (b) Both A and B are true. about Jatakas is correct?
currents meet provide world's (c) Both A and B are false (a) These were composed by
best fishing grounds. (d) Adis true and B is false ' ordinary people, written down
(a) Aand C are correct. . ' and preserved by Jaina monks.
(b) Band C are correct. 42. Shelter bglt.s help'ln: i (b) These were composed by
(c) Only A is correct. (a) Retaining soil moisture. Buddhist monks, wirtten down
(d) Aand B are correct. (b) Slowing dovyn the flow of and preserved by ordinary
37. The depositional feature of a water over soil. people.
glacler is called : (c) Preventing gullies and hence (c) These were composed by Jaina
(a) Moraine (b) Loess further. soil lF)ss. monks, written down and
(¢) Levees (d) Seacave (@ Checklng. wind movement to preserved by ordinary people.
38. Statement A and B describe the protect so‘1l cover. . (d) These were composed by
feature of which of the followin 43. What determines the thickness of ordinary people, written down
g . o ry people,
vegetations? soil prpﬁle. and preserved by Buddhist
A. This vegetation is found in the (a) Ellr.ne ; (3) glci'ragFauna monks.
higher latitudes (50°-70°) of | () Mlmae (0) Relel 49. Which of the following statements
Northern Hemisphere. . On the basis of their (.ilstnbutlon, LA . )
B. Itis also called as Taiga. resources can be classified as: about Ain-i- l.(barl is correct?
(2) Temperate Deciduous Forests. (a) Renewable and Non-renewable (a) Itdeals with Akbar's ancestors
(b)  Coniferous Forests. (b) g:iscstlil(fcafd Abiotic resources and r?cor.ds the events fo
(c) Mediterranean Vegetation. (¢) Ubiquitous and Localised Akbar's reign. .
(d) Temperate Grasslands. eSOUTCES (b) Itwas written by Mirza Hakim,
39. Which of the following is (d) Actual and Potential resources who was one of Akbar's
not a feature of the Ganga- 45. Which of the following statements courtiers.
Brahmaputra Basin? about a 'diverse society' is correct? (c) It has rich statistical details
(a) The density of population of (a) It would have difference in about diverse aspects of
plain area is very high. culture and power. Akbar's administration.
(b) The delta are is covered with (b) It would have similarities of (d) Itis the first volume of the three
Mangrove forests. language. religion a}nd culture. volume history of Akbar's reign
(c) Slash and Burn agriculture is (c) It Wo.u].d h.a.ve .dlfferences titled Akbar Nama
practiced in this are of land 2ﬁﬁusrl::rllznrgﬁsgigln1anguage’ 50. Who among the followi.ng compiled
(d) ?)u):f]l;]j\zcl);l;es dot the plain area @ Ir O uld h‘a’ve d ifferences the compositions of Baba Guru
. . i and inequalities in language, Nanak in Gurumukhi, also adding
40. Swimmers float in Dead sea religion and culture. hi tions o it?
because: 46. Which of the following statements 1S OWI cotpositions to It:

(a) More warm currents than cold
currents originate in the sea.

(b) The sea experiences more high
tides than low tides.

challenges gender stereotypes?

(a) Women are fashion conscious.

(b) Women are responsible bus
drivers.

(a) Guru Angad

(b) Guru Arjan

(¢) Guru Teg Bahdur
(d) Guru Gobind Singh
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51. Which of the following was not a

feature to Athenian democracy?

(a) All citizens were expected to
serve in army and navy.

(b) All the citizens attended
assemblies that were held for
deciding upon matters.

(c) Appointment for many
positions were made through
lottery.

(d) All the free men and women
above 30 years of age were
recognised as full citizens.

52. Which of the following was

Samudragupta's policy
specifically towards the rulers of
Dakshinapatha?

(@) They submitted to
Samudragupta and offered
daughter in marriage.

(b) They brought tribute, followed
his orders and attended his
court.

(¢) They surrendered after being
defeated and then were
allowed to rule again.

(d) Their kingdoms were
uprooted and made a part of
Samudragupia's empire.

53. Match the following:

(Art form) (Nomenclature)
A Art technique i Picturesque
that enabled
making of

images that
looked real.

B Painting ii Portraiture
showing Indian

landscape

as quaint,

unexplored

land

C Paintings
displaying 1
avish lifestyles,
wealth & status
of Eurpoeans
in India.

iii. History

D Painthings
depicting scens
from British
imperial
history &
vicoties.

iv. Painting

54.

SS.

56.

A B C D
(@ i iv i
®) i i v i
(c) i il iii iv
(@ ivoi i il

In the late 18th century, the

presidencies of Bombay, Madras

and Bengal developed from
which of the following East India

Company's trading posts?

(a) Nagpur, Madurai, Delhi

(b) Pune, Madras, Calcutta

(c) Surat, Madurai, Delhi

(d) Surat, Madras, Calcutta

Consider the statements A and B

about Mahayana Buddism and

choose the correct answer.

A. In this form of Buddism,
Buddha's presence in
sculptures was shown using
certain signs.

B. The belief in Bodhisativas
emerged with the coming of
Mahayana Buddism.

(a) Adis false, B is true.

(b) Both A and B are true.

(c) Both A and B are false.

(d) Aistrue, B is false.

Consider the statement A and B

about Mahalwari and Ryotwari

system of revenues and choose the
correct answer.

A. The Mahalwari was devised
for North-Wetern provinces
of Bengal presidency, while
the Ryotwari was devised for
British territories in South.

B. While in Mahalwari, village
headman collected and paid
revenue of the whole village
to the company, in Ryotwari
direct settlements was made
with cultivators.

(a) Only B correctly explains
differences between the two
revenue systems.

(b) Both A and B correctly explain
differences between the two
revenue systems.

(¢) Neither A nor B correctly
explain differences between
the two revenue systems.

57.

58.

59.

60.

61.

62.

(d) Only A correctly explains
difference between the two
revenue systems.

A tomb of a Sufi saint is known as:

(a) Idgah

(b) Gulfaroshan

(c) Dargah

(d) Khangah

The doctrine of Vishishtadvaita

was propounded in eleventh

century by:

(a) Basavanna

(b) Eknath

(c) Sakhubai

(d) Ramauja

Consider the statement A and B on

Diwani Adalat established in 1772

in India and choose the correct

answers:

A. It was a criminal court.

B. It was presided over by the
European district collectors.

(a) Ais false, B is true.

(b) Both A and B are true.

(¢) Both A and B are false.

(d) Aistrue, B is false.

A garisson town refers to:

(a) A fortified settlement with
soldiers.

(b) A place where goods from
different production centres
are sold.

(c) Atown onan important trading
port.

(d) Land adjacent to a city that
supplies goods to it.

A Social Science teacher should

aim towards:

(a) Building perspective

(b) Syllabus completion

(c) Passing the examinations

(d) Rote memorisation

Which of the following approaches

have been considered while

developing social and political life
textbooks?

A. Learning through use of
concrete examples and
experiecnes.

B. Learnig through retention
based on facts and data.

(a) Only B

(b) Both Aand B

(c) Neither Anor B

(d) Only A
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63.

64.

65.

66.

67.

Which of the following is true

about Social Scienc?

A. Memorsing information
will lead to conceptual
development.

B. The status of a 'fact' is always
fixed.

(a) Only B

(b) Both Aand B

(¢) Neither A nor B

(d) Only A

The best practice for sensitising

students towards wildlife

conservation would be:

(a) Preparing a play on wildlife
conservation.

(b) Observing wildlife week at the
school.

(c) Pledging not to buy animal
based products.

(d) Readingaboutrelevant policies
and laws.

What is the main purpose of an

Open-Book Evaluation?

(a) Teachers need not undergo
extra pressure to frame new
questions.

(b) Students need not read extra
books.

(c) Students can answer exactly
according to the textbook.

(d) Students need not feel the
burden to rote memorise all
facts and details.

Which of the following would

be the best closure tasks after

the teaching of the theme. 'The

Making of Regional Cultures'?

A. Small group projects

B. Dance performance by an
expert

C. Quiz competition

D. Collage making

(a) A,B,D

(b) A,C,D

(c) B,C,D

(d) AB,C

Imagine you have inherited a

kingdom. How would you

make your kingdom stable and
prosperous?

68.

69.

70.

71.

In context of the above question,
as a teacher which skill would you
emphasise upon while assessing the
students?

(a) Ability to analyse.

(b) Infer and extrapolate from
situation.

(c) Ability to reason.

(d) Comparing experiences.

A respectful way to introduce the

theme 'A divasis' would be to:

(a) Showecasing their colourful
costumes.

(b) Screening a tribal song and
dance.

(c) Discussing their primitive and
rustic pasts.

(d) Porraying them as rich and
powerful forest people.

While teaching controversial issues

in Social Science class, you should:

(a) Take them up occassionally
and conduct brief discussions.

(b) Take them up with proper
planning to initiate a dignified
discussion.

(¢) Keep in mind students
background and discuss only
non-hurtful aspects.

(d Completely
confrontations.

The teaching of social and political

life should focus on:

A. Study of Political Insitutions.

B. Study of Basic Priniciples.

(a) OnlyB

(b) Both Aand B

(¢) Neither A nor B

(d) Only A

While planning a small group

activity with students, which of the

following should be emphasised?

A. To create a challenging task.

B. To teach students to work
together.

C. To select groups thoughtfully.

D. Completion of task.

(a) A,B,D

(b) A,C,D

(¢) B,C,D

(d AB,C

avoid

72.

73.

74.

75.

76.

Which of the following statement
are true about the study of Social
Science?

A. Helps In systemic analysis of
issues.

B. Students will grow up and find
our for themselves.

C. Focus should be on
subject details rather than
understanding.

D. Building sensitivity and
curiosity as much as providng
information.

(a) A,D

(b) B,D

(c) C,D

(d) AC

The writings fo the following

cannot be attributed as a primary

source?

(a) Abul Fazl

(b) Rashundari Devi

(c) Ziyauddin Barani

(d) Muzaffar Alam

Which of the following sources

would be wrong to use if you

have to introduce Ancient Indian

History?

(a) Miniature Paintings

(b) Inscriptions

(c) Manuscripts

(d) Cave paintings

Which of the following can a

Social Science teacher critically

address while discussing the theme,

'Advertisement'?

A. Appeal to the personal

emothions.
B. Issues of equality.
(a) Only B

(b) Neither A nor B

(c) BothAand B

(d) Only A

'Discuss few more reasons that are
responsible for changes in land use
pattern.'

In context of the above questions,
as a Social Science teacher you
would be assessing students, skill
of :

(a) Generalising

(b) Inferring

(¢) Hypothesising

(d) Classifying
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77. To familiarise students with the
theme, 'Natural Vegetation and
Wildlife," which would be the best

pedagogical method ?

(a) Visit to a wildlife sancturay.
(b) Inviting an expert for a lecture
(c) Textbook reading and

discussion.

(d) Screeninga documentary on the

theme.

78. What is the role of cartoons in a

Social Science textbooks ?

(a) Mainly used as fillers so that

textbooks look attractive.

(b) Makes class enjoyable as the

subject is boring.

(c) Raises basic issues and makes

it relatable to students.

(d) No role as cartoons are

immature.

79. Consider statement A and B on the

practice of apartheid:

A. Itdiscriminates between races
but allowed all the right to

vote.

B. It prevents mingling of races
but gives equitable public

facilities to all.
Choose the correct option :
(a) Only B is true.
(b) Both A and B are true.
(c) Both A and B are false.
(d) Only As true.

80. Who among the following occupies
elected office in a Gram Panchayat?

A. Sarpanch
B. Ward Members
C. Secretary

D. Gram Sabha Member
Choose the correct option :
(a) AandC

(b) A,BandC

(c) B,Cand D

(d) AandB

81. Which of the following work is the

responsibility of a '"Patwari' ?

(a) Executing employment
schemes for land development.
(b) Preventing land disputes by

investigating complaints.

(c) Measuring land and keeping

records.

(d) Construction and maintenance

of common propety.

82.

83.

84.

Which of the following statement
on the functioning of a local urban
administration is correct ?

(a) Commissioner is elected by
wark councillors and reports
to him/her.

(b) Ward councillors form
committees to resolve issue
of govermance.

(¢) Ward councillors are headed
by the Sarpanch.

(d) Commissioner of a municipal
corporation makes and decides
the budget for the year.

Consider List-A and List-B.

List—A has different types of rural

employment.

List— B has different kinds of loans

taken.

List-A List-B
A Agricultural i Health and
woker off-season
consumption
B Large ii Fertiliser,
farmer Pesticide, Seeds
C Middle iii. Goverment
farmer loan for agro-

processing plant

Math items of List—A with List-B,
based on most likely reason for
loans :
A B C
(@ i i iii
by i i
(c) il i ii
(@ i i i

Which of the following forms the

trading arrangement between a

weaver an a merchant under the

"Putting out" system? Choose the

correct option.

(a) Yarnissoldtothe weaver by the
merchant; and weaver makes
cloth for self-consumption.

(b) Yarn is supplied by the
merchant to the weaver and
cloth produced is bought back
from weaver at a low price.

85.

86.

87.

(c) Yarnisbought by weaver from
the open market and cloth is
sold to merchant at a low price.

(d) Yarnisbought for the lowest bid
from merchant; and cloth is sold
at highest bid.

Consider the statement A to E.

They form jumbled links in a chain

of market, wherein 'Ketchup'

reaches a consumer.

A. Sona orders ketchup from a
neighbourhood shop.

B. Farmer buys tomato seeds
from a local trader.

C. Wholesale merchant bids
for tomatoes in the vegetable
mandi.

D. A small city based food
processing unit buys tomatoes.

E. Marketing company supplies
ketchup to stores.

Choose the option that represents

the correct sequence in the chain

of market :

(a) B,D,E,C,A

(b) C,B,D,EA

(¢) A,B,D,C,E

(d B,C,D,E, A

According to Appellate System, a

person dissatisfied with the verdict

given by the Court of the District

Judge could appeal to which of the

following courts ?

(a) Supreme Court

(b) High Court

(c) Trial Court

(d) Session Court

Consider the statement A and B on

the Indian Parliament :

A. A political party that has
any number of Members of
Parliament in the Lok Sabha
can form a government.

B. Lok Sabha, Rajya Sabha
and President are part of the
Parliament.

Choose the correct option :

(a) Only B is true..

(b) Both A and B are true.

(c) Both A and B are false.

(d) Only A is true.
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88. Read the statement given below :
"The Indian State has many
checks and balances to prevent
the misuse of powers."

Choose the correct option that
represents the meaning of 'Indian
State' in the above statement.

(a) The Indian Bureaucracy

(b) Any State Government

(¢) The Indian Political System
(d) The Indian Central Government

89. Which of the following should the
teaching of History focus upon ?

A. Concepts of plural
representations and building
a sense of historical diversity.

B. Encouraging students to
imagine living in the past and
relate to the experiences.

(a) OnlyB

(b) BothAandB

(c) Neither A nor B

(d) Only A

90. Two of the statements given below

are false. Identify these statements.

A. Natural and physical basis of
scientific inquiry can be used
in Social Science also.

B. The teaching of Social Science
has the responsibility towards
value education only.

C. The same methodology can
be used to teach different
discipline of Social Science.

D. The teaching of Social
Science concerns more with
involvement with complexities
rather than information.

(a) BandC

(b) Band D

(c) CandD

(d) AandC

PART-III : LANGUAGE-I (ENGLISH)

Directions (Q. No. 91 to 98) : Read
the passage given below and answer
the questions that follow by choosing
the correct/most appropriate options:

The other day I received an unusual
and very gratifying gift: I was given
a tree. Or rather, I was given half-a-
dozen trees, which would be planted on
my behalf. I had been invited to give
a talk to an organisation. After such
events, the speaker is usually given a
token gift. Sometimes the gift is that of
a pen, or something useful. Often, the
gift is in the form of a plaque or similar
commemorative token. However well-
meant, such gifts are destined to gather
dust in forgotten corners. Which is why
I was agreeably surprised to be given a
scroll which attested that, in a designated
plantation established for the purpose,
six trees would be added in my name,
as part of ‘green’ movement being
sponsored by the organization.

In an increasingly environmentally-
conscious world, the gift of a living tree
or plant makes for a perfect present.
The tradition of giving and receiving
gifts has increasingly become a highly
evolved marketing erecise. Apart from
festivals like Diwali, Holi, Christmas,
Eid and others, a whole new calendar

of celebratory events has been created
to promote the giving of gifts: Mother’s
Day, Father’s Day, Teacher’s Day,
Valentine’s Day and so on and on.
What do you give to people -
friends, relatives, spouses, children,
parents, employees, clients, well-wishers
who have more or less everything, or at
least everything that you could afford
to give them as a gift? Another shirt
or kurta? Another bottle of Scent or
aftershave? Another box of chocolates ?
Another any other?
91. Why do you not very much care
for it when you receive a shirt or
a kurta as a gift?
(a) You already have so many of
them
(b) You don’t like the colour
(c) Youwere not asked about your
choice
(d) The giver had to spend a lot of
money
92. The word ‘gratifying’ means
(a) satisfying  (b) giving
(c) fortifying (d) annoying
93. The word ‘destined’ means :
(a) decided (b) declined
(c) departed (d) fated
94. Name the part of speech of the
underlined word in the following
clause.

95.

96.

97.

98.

which is why I was agreeably

surprised.

(a) Adjective (b) Pronoun

(c) Adverb (d) Preposition

Identify the part of the following

sentence which has an error in it.

(a) Your claim ought

(b) to succed in that case

(c) the damages

(d) will be substantial

(a) (b) (®) (©)

(c) (d) (d) (a)

The writer was thrilled when he

was given:

(a) six trees

(b) aplaque

(c) apen

(d) atree

What usually happens to the gifts

he/she receives?

(a) He gives them away as gifts to
others

(b) They are putaway and forgotten

(c) He keeps them religiously as
mementoes

(d) He uses them if he needs them

The gift received by the writer

was :

(a) environment friendly

(b) very expensive

(c) gathering dust in a corner

(d) a marketing exercise
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Directions (99 to 105) : Read the
passage given below and answer the
questions by selecting the correct/most
appropriate options :

With more than 3,000 languages
currently spoken, English undoubtedly
is amongst the richest of all languages.
The Oxford English Dictionary lists
about half a million words of which
only 2,00,000 are frequently used. This
is because, the balance 3,00,000 words
are technical and not found in ordinary
dictionaries. The only language that can
come near English is Chinese.

Apart from being the richest
language, English also boasts of
being one of the most widely spoken,
second only to Mandarin Chinese. This
remarkable achievement is only because
of the one thing that we all love to do—
copy ! “Slesta’ for example is of Spanish
origin. ‘Sputnik’ as you must be aware
of, has a Russian origin. ‘Restaurant’ is
from France and ‘Super’ from Germany.
Even before the birth of the ‘genius’ of
‘drama’, William Shakespeare, the words
‘genius’ and ‘drama’ were adapted from
Greek. Now, you must be wondering if
English has anything original about it.
Well, find it out ! Did you ever try to find
out how many different words of English
we use in our daily life? Try to guess and
then read on. A modern novelist has a
vocabulary of anywhere between ten to
fifteen thousand words.

William Shakespeare used thirty
thousand words and the only writer to
come close to him was James Joyce
in ‘Ulysses’. We normally have a
vocabulary of about ten thousand words
of which only five thousand are used in
everyday conversation. This leads to a
limited variety of words. This is because
we repeat a lot of words. In conversation
and in writing, it is ‘the’. (Try counting
it in this article and you will have proof
of'it.)

99. How many words are usually used
by an English speaking person?
(a) 5,000 (b) 10,000
(c) 15,000 (d) 3,000

100. Which of the following words
is most often used in English

language?
(a) the (b) is
(c) one (d) a

101. The word thatis similar in meaning
to the word, ‘remarkable’ is :
(a) remedial
(b) remaining
(c) optional
(d) astonishing
102. The word that is opposite in
meaning to the word, ‘ordinary’
is :
(a) complex (b) special
(c) liable (d) usual
103. Which part of speech is the
underlined word in the following
sentence?
Did you ever try to find out ?
(a) Adjective  (b) Pronoun
(c) Verb (d) Adverb
104. English is the most widely used
language in the world because :
(a) it is the richest language
(b) it has taken words from other
languages
(c) it has half a million words in it
(d) Shakespeare has written in
English
105. In our everyday conversation we
use a limited number of words
because :
(a) we are not a genius like
Shakespeare
(b) everybody is not highly
educated
(c) we repeat a lot of words
(d) our vocabulary is unlimited
Directions (Q. No. 106 to 120) : Answer
the following questions by selecting
the most appropriate options.

106. A teacher gives a puzzle to her
class-VIII students and asks them
to solve it by speaking out how
they solve it. What is this strategy
known as?

(a) Think aloud protocol
(b) Listening

(c) Picture reading

(d) Speaking aloud

107. Sanskrit in India today is a :

(a) Modern Indian language and a
classical language

(b) Religious language

(c) Hindu language

(d) Modern Indian language

108. A teacher of Class-VII asked her
students to read a short story and
come to the class. She asks them
to discuss the major points of the
story in groups and present them
to the whole class. What is this
reading known as?

(a) Reading with a purpose
(b) Reading for thinking
(c) Extensive reading

(d) Intensive reading

109. English does not find its place as
a
(a) second language in the school

curriculum
(b) third language in the school
curriculum

(c¢) medium of instruction

(d) first language in the school
curriculum

110. Bottom-up processing in listening
is to:

(a) decode the overall messages of
the discourse and move down
the micro level units

(b) encode all the sounds from
speaker to listener

(c) use multiple ways to decode
the messages

(d) decode messages moving from
sounds to words, phrases,
clauses and other grammatical
elements to sentences
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111. What is the following strategy
known as in reading?
The text is read mer slowly and
in detail to get the gist or overall
sense of the text.
(a) Summarising
(b) Skimming
(c) Scaffolding
(d) Scanning
112. A teacher asks her learners of
class-VII to refer to the textbook
of History and find a theme which
can be connected with English
language text for writing an essay.
What is this practice known as?
(a) Language across the curriculum
(b) Language in learning
(c) Language and history
integrated learning
(d) Language and Social Science
learning
113. Multilingualism as a resource
means:
(a) using the languages of learners
as a strategy in school
(b) teaching many languages
(¢) promoting of languages
through content learning
(d) learning many languages in
school
114. Match the types of writing with
their corresponding category :
(A) Personal (i) Letter of
writing complaint

(B) Study (ii) Diary
writing writing
(C) Creative (iii) Synopsis
writing writing
(D) Public (iv) Travelogue
writing
A B C D
(@) (1) (@) @) (1)

®) Gi) ) @) Gv)
(¢) (iv) (i) (@) (1)
(d @ G (@) (i)

115. A teacher divides her class into
groups of five and allocates
different themes to the groups.
The groups have to collect
information on the themes and
write reports to be presented to
the class. What is this activity
known as?

(a) Project work
(b) Writing work
(c) Research

(d) Assignment

116. Process approach to writing
involves:

(a) Brainstorming, writing the first
draft and final writing

(b) Outlining, revising and writing
the final draft

(c) Writing the first draft, revising
and developing the final draft

(d) Brainstorming, outlining,
drafting revising, proof-
reading and drafting the final
writing

117. Continuous Asessment focuses
on:
(a) Informal assessment
(b) Informal and a combination of
both formative and summative
(c) Outcome and achievement
based assessment
(d) Formal assessment
118. ‘Pre-reading’ activity in class is
to:
(a) connect learners’ with one
another
(b) enable learners to know about
the story which they would
read ahead
(c) all of these
(d) connect learner’s previous
knowledge with what she
learns in the reading text
119. Pedagogical Grammar is :
(a) grammar for teachers
(b) grammar in context to connect
grammar points with real life
context
(¢c) grammar with formal rules to
be applied while writing
(d) grammar of pedagogy
120. What are these words known
as ?
— the, of, and, a, to, that, it, with,
but, they, she, he
(a) Form words
(b) Use words
(¢) Unimportant words
(d) Sight words
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ANSWERS AND EXPLANATIONS

1. (¢) Individual differences in
personality temperament can be observed
from the day the child is born. Besides
the differences in physical characteristics
there are differences in ‘their emotional
reactivity. Thomas and Chess (1970)
found in their extensive study that
reliable individual differences could
be observed shortly after birth in such
characteristics as activity level, attention
span, adaptability to changes in the
environment, and general mood. One
infant might be characteristically active,
easily distracted, and willing to accept
new objects and people, another might
be predominantly quiet, persistent in
concentrating on an activity.

Biological inheritance is determined
by the chromosomes and genes. You all
have studied that females have twenty-
three pairs of chromosomes. Males
have twenty-two pairs plus two singles
represented as X Y, the X and Y are
called sex chromosomes because our sex
depends upon XX or XY combinations.
Sets of chromosomes from different
persons, of the same sex look very
much alike but actually they differ a lot
internally. These differences are most
pronounced in unrelated individuals.

The environmental influences are
those which act upon the organism,
at the earlier stages of development
within mother’s womb and later external
environment which operates from the
time of birth. The nucleus, chromosomes
and genes are surrounded by a jelly
like substance known as cytoplasm.
The cytoplasm, is an intracellular
environment, because the genes
surrounded by it are influenced by and
in turn influence its characteristics. The
outcome of the organism is determined
by cytoplasm as well as its heredity.
A new internal environment comes
into existence, after the interaction of
genes and cytoplasm has produced
several cells. The actual structure of a
cell depends upon its relation to other

cells. Development in specific location
determines the part of the body.

2. (c¢) Development implies overall
changes in shape, form or structure.
Development is a continuous and life
long process. It starts with the birth of
the child and ends with the death of
the individual. Development describes
the changes in the organism as a whole
and does not list the changes in parts.
According to Arnold Gessel, “Growth is
the function of the organism rather than
of the environment. The environment
furnishes the soil and the surroundings for
manifestation of development, but these
manifestations come from inherent inner
organism and an intrinsic physiology
of development. Growth is a process
so intricate and so sensitive that there
must be powerful stabilizing factors,
intrinsic balance of the total pattern
and direction of the growth trend”.
There are three principles of growth
and development: the ephalocaudal
principle, the proximodistal principle,
and the orthogenetic principle. These
predictable patterns of growth and
development allow us to predict how
and when most children will develop
certain characteristics.

3.(b)

4. (a) Progressive education is a
pedagogical movement that began
in the late nineteenth century; it has
persisted in various forms to the present.
The term progressive was engaged to
distinguish this education from the
traditional Euro-American curricula of
the 19th century, which was rooted in
classical preparation for the university
and strongly differentiated by social
class. By contrast, progressive education
finds its roots in present experience. Most
progressive education programs have
these qualities in common:

* Emphasis on learning by doing —

hands-on projects, expeditionary
learning, experiential learning

* Integrated curriculum focused on
thematic units

* Integration of entrepreneurship into
education

* Strong emphasis on problem solving
and critical thinking

* Group work and development of
social skills

* Understanding and action as the
goals of learning as opposed to rote
knowledge

* Collaborative and cooperative
learning projects

» Education for social responsibility
and democracy

* Highly personalized learning
accounting for each individual's
personal goals

* Integration of community service
and service learning projects into
the daily curriculum

» Selection of subject content by
looking forward to ask what skills
will be needed in future society

* De-emphasis on textbooks in favor
of varied learning resources

* Emphasis on lifelong learning and
social skills

» Assessment by evaluation of child's
projects and productions

5. (d) Some of the strategies for
handling learners with visual impairment
in the classroom. The strategies include:
Using large writing on the chalk board
or visual aids

» Using large writing on the chalk
board or visual aids. The use of
coloured chalks is recommended.
Let the children come close to the
board or teaching aids so that they
can see more easily.

* Read aloud what is written on the
chalk board.

* Prepare teaching aids that learners
can read more easily such as large
print materials. Other learners in
the class could help prepare these or
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they can be produced by enlarging
font sizes on computer printout. This
can also help learners who have
difficulties in reading.

* Learners may have difficulties
seeing the lines on writing papers.
They can be given papers with
thicker lines drawn on it.

* Some learners will benefit from
using magnifying aids. Two types
are available. Ones that enlarge
the whole page or line magnifiers,
which are a useful aid to reading

* Encourage the learners to use a
pointer or their finger when reading.
Cover the rest of the page with paper
except for the paragraph they are
reading. Use a book stand to avoid
reflection

* Children with poor vision need
to learn through touch as well as
through hearing. They should be
given a chance to handle objects.

» Computers offer particular support
to learners with visual impairment.
They can print out a large print copy,
read text on the screen using the text
on a voice synthesizer or convert it
in to Braille

6. (d) Cooperative learning and peer
tutoring should be actively promoted
in an inclusive classroom. Cooperative
learning methods help in achieving
those complex abilities which cannot
be achieved by individualistic and
competitive methods. Cooperative
learning as an instructional approach is
based on positive task interdependence
and reward interdependence. In this
approach students work in a group and
as a group. The Jigsaw method, Team-
games Tournament method, Problem
Solving method, Group Investigation
method and Project method have been
found to be promising and appropriate
for teaching primary classes. These
methods can be used to teach curricular
subjects and also to develop interpersonal
skills/behaviors. Teacher can select
appropriate cooperative learning method
and learning situations depending on
the nature of the subject and topic to be
taught.

7. (¢)

8. (a) Dyslexia — Dyslexia has
been around for a long time and has
been defined in different ways. For
example, in 1968, the World Federation
of Neurologists defined dyslexia as
“a disorder in children who, despite
conventional classroom experience, fail
to attain the language skills of reading,
writing, and spelling commensurate with
their intellectual abilities.” Dyslexia
is not due to mental retardation, brain
damage, or a lack of intelligence. It is
caused by an impairment in the brain’s
ability to translate images received from
the eyes or ears into understandable
language. The severity of dyslexia can
vary from mild to severe. It is found more
often in boys than in girls. The sooner
dyslexia is treated, the more favorable
the outcome; however, it is never too
late for people with dyslexia to learn to
improve their language skills (Schulte-
Korne, Warnke, & Remschmidt, 2006).

9. (b) The ability to come up with
original and divergent solutions to a
problem 1is a primary characteristics
of creative children. This is the ability
to produce new ideas by bringing
together elements usually thought of
as independent or dissimilar and the
aptitude for developing new meanings
that have social value. Characteristics
of creative and productive children's
openness to experience, setting personal
standards for evaluation, ability to play
with ideas, willingness to take risks,
preference for complexity, tolerance
for ambiguity, positive self-image and
the ability to become submerged in a
task. Creative and productive children
are identified through the use of tests,
such as the Torrance Test of Creative
Thinking or through demonstrated
creative performance.

10. (¢) 11.(d) 12. (a)

13. (c) Extrinsic motivation refers
to behavior that is driven by external
rewards such as money, fame, grades,
and praise. This type of motivation
arises from outside the individual, as
opposed to intrinsic motivation, which
originates inside of the individual.

14. (b) 15.(d) 16. (c) 17. (¢c)

18. (b) 19.(d)

20. (a) Schema theory is a branch of
cognitive science concerned with how
the brain structures knowledge. A schema
is an organized unit of knowledge for a
subject or event. It is based on past
experience and is accessed to guide
current understanding or action.

Schemas are dynamic —

* They develop and change based on
new information and experiences
and there by support the notion of
plasticity in development.

* Schemas guide how we interpret
new information and may be quite
powerful in their influence (see work
of Brewer and Treyens below).

» Schemas, or schemata, store both
declarative (“what”) and procedural
(“how”) information.

21. (d)

22. (d) Social interaction plays a
fundamental role in the process of
cognitive development. In contrast to
Jean Piaget’s understanding of child
development (in which development
necessarily precedes learning), Vygotsky
felt social learning precedes development.
He states: “Every function in the child’s
cultural development appears twice:
first, on the social level, and later, on the
individual level; first, between people
(inter psychological) and then inside the
child (intra psychological)”

23. (c) 24. (a) 25. (c) 26. (c)

27. (c) 28. (b) 29. (b) 30. (c)

31. (b) Greenwich mean time can be
defined as the mean solar time at the
Greenwich meridian, adopted as the
standard time in a zone that includes the
british Isles. Indian standard time can be
defined as the time observed throughout
India and Sri Lanka with a time offset of
UTC+05:30. and the difference between
GMT and IST is it varies in time duration
that is IST is 5 hours and 30 minutes
ahead of GMT.

32.(¢)
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33. (a) Our atmosphere is divided
into five layers which are: troposphere,
stratosphere, mesosphere, thermosphere
and exosphere.

Troposphere: It is the most important
layer of the atmosphere. The air we
breathe exists here. It has the following
features:

* Its average height is 13 km.

* Almost all the weather phenomena
occur in this layer. The weather
phenomena include: Rainfall, Fog,
Hailstorm etc.

Stratosphere: This layer is just above
the troposphere and has the following
features:

* It extends to a height of 50 km.

* It is almost free from clouds and

associated weather phenomena that
occur in the troposphere.

It is most ideal for flying aeroplanes
since it is free from weather
phenomena.

It contains a layer of ozone gas
which protects us from the harmful
effect of ultraviolet rays from the
Sun. The depletion of the ozone
layer of late is a serious concern for
all of us.

Mesosphere: It is the third layer of
the atmosphere and it lies above the
stratosphere. It extends upto a height
of 80 km. The burning of meteorites on
entering from space occurs in this layer.

Thermosphere: It is the fourth layer
and the layer above the mesosphere. In
this layer, temperature rises very rapidly
with increase in height. lonosphere is a
part of this layer. Thermosphere has the
following features:

* It extends between 80 to 400 km.

o It helps in radio transmission. This
layer is responsible for reflecting
back of the radio waves that are
transmitted from the Earth.

Exosphere: It is the uppermost layer
of the atmosphere. It has very thin air.
Light gases like helium and hydrogen
float into the space from here.

34. (b) The Earth’s revolution not
only affects but actually causes the
temperature conditions that give us
spring, summer, fall and winter seasons.
Which season it is depends on whether
you live in the Northern or Southern
Hemisphere because the Earth’s axis
tilts toward one of the two as it moves
around the sun. The seasons are always
opposite in each hemisphere. This
rotational process causes the Sun to
be higher in the sky in the winter and
lower in the summer. The Earth orbits
the Sun once a year, causing its two
hemispheres to shift positions, either
pointing toward the Sun or away from
it. The hemisphere pointing toward the
Sun is in summer and the hemisphere
pointing away from it is in winter. The
Earth’s axis, the imaginary line around
which the planet spins, is tilted. This
causes the planet to lean away from the
Sun, receiving only indirect solar energy
in the winter, and direct solar energy in
the summer. Temperatures increase in
the summer because the Sun’s energy is
more concentrated.

35. (b) The air that we breathe is a
mixture of many gases like oxygen,
nitrogen, carbon dioxide, argon etc. The
majority of the atmosphere is made up
of nitrogen (78%) and oxygen (21%).
The other gases that are present in small
quantities are: Carbon dioxide (0.03%),
Argon (0.93%) and Others ( helium,
hydrogen, ozone). Tiny dust particles
are also present in the air, apart from the
above gases.

Nitrogen: It is the gas that is most
abundant in the air. Plants need nitrogen
to make protein. Plants cannot take the
gaseous nitrogen from air. Some bacteria
live in soil and in roots of some plants.
These bacteria take the nitrogen form air
and change it to a form so that plants can
utilize nitrogen.

Oxygen: It is the second most plentiful
gas in the air. Oxygen plays an important
role for human beings, animals and
plants in the following ways. Most
of the living beings need oxygen for
respiration. Green plants produce oxygen
during photosynthesis.

The consumption of oxygen by human
beings and animals is replenished by the
production of the same by plants. Hence,
the oxygen content in the air remains
balanced. Indiscriminate felling of trees
disturbs this balance.

Carbon dioxide: It is another
important gas. Green plants need carbon
dioxide to carry out photosynthesis.
Most of the living beings release carbon
dioxide during respiration.

36. (a)

37. (a) Moraines are accumulations
of dirt and rocks that have fallen onto
the glacier surface or have been pushed
along by the glacier as it moves. The
dirt and rocks composing moraines can
range in size from powdery silt to large
rocks and boulders.

38. (b) Coniferous forest, vegetation
composed primarily of cone-bearing
needle-leaved or scale-leaved evergreen
trees, found in areas that have long
winters and moderate to high annual
precipitation. The northern Eurasian
coniferous forest is called the taiga,
or the boreal forest. Both terms are
used to describe the entire circumpolar
coniferous forest with its many lakes,
bogs, and rivers. Coniferous forests also
cover mountains in many parts of the
world. Pines, spruces, firs, and larches
are the dominant trees in coniferous
forests.

39. (c) Known as the second largest
hydrological region in the world, the
Ganga-Brahmaputra basin is also one
of the oldest nurturers of people in the
Indian subcontinent. The basin is one
of the finest examples of the human’s
interaction with the environment. The
basin shows varied trends in vegetation,
which depend on the kind of landforms
around the basin. We find tropical
deciduous trees alongside the Ganga river
and the Brahmaputra. Some common
trees here are Sal, Teak and Peepal. The
Brahmaputra’s plain particularly is home
to Thick Bamboo groves while the delta
region has plenty of mangrove forests.
Due to obvious reasons, agriculture is
the main occupation practised in the
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basin. The main crops cultivated in this
region is paddy while, maize, sorghum,
millets, and grams are the secondary
crops cultivated in the region. In some
areas, cash crops like jute and sugarcane
are also cultivated. Since the basin starts
from north and halts in the northeast we
find a variety of cultivation trends in the
basin region. Apart from these crops,
we also see banana plantation and Tea
plantation. The main mode of agriculture
here is Terrace farming.

40. (¢) Swimmers Float dead sea
because the increased salt content
makes the sea dense . The waters of
the Dead Sea are extremely saline,
and, generally, the concentration of salt
increases toward the lake’s bottom. That
phenomenon can create two different
masses of water in the lake for extended
periods of time. Such a situation existed
for some three centuries, lasting until
the late 1970s. Down to a depth of about
130 feet (40 metres), the temperature
varied from 66 to 98 °F (19 to 37
°C), the salinity was slightly less than
300 parts per thousand, and the water
was especially rich in sulfates and
bicarbonates.

41. (c) 42.(d)

43. (a) Time actually determines
thickness of soil profile. Layers of
sand,clay,humus,weathered rocks etc.
continue to get deposited over already
present layers of soil...and one layer of
soil takes 100 years to deposit. Another
way is we can find by putting some soil
in carbon dating.

44. (c) Classification of natural
resources on the basis of distribution:

Ubiquitous Resource: Resources
which are available everywhere on the
Earth are called ubiquitous resources,
e.g. air and water.

Localized Resource: Resources which
are available at select locations on the
Earth are called localized resources, e.g.
coal mines in Jharkhand. Topography,
climate and altitude are the major factors
which affect the distribution of natural
resources.

45. (c) 46. (b) 47.(d) 48.(d)

49. (c) The Ain-i-Akbari or the
"Administration of Akbar", is a 16th-
century detailed document recording the
administration of the Mughal Empire
under Emperor Akbar, written by his
court historian, Abu'l Fazl in the Persian
language. It forms Volume III and the
final part of the much larger document,
the Akbarnama (Account of Akbar),
also by Abu'l-Fazl, and is itself in three
volumes. The Ain-i-Akbari is the third
volume of the Akbarnama containing
information on Akbar's reign in the form
of administrative reports, similar to a
gazetteer. In Blochmann's explanation,
"it contains the 'ain' (i.e. mode of
governing) of Emperor Akbar, and is
in fact the administrative report and
statistical return of his government as it
was about 1590.

50. (a) Gurmukhi alphabet, writing
system developed by the Sikhs in India
for their sacred literature. It seems to
have been modified from the Lahnda
script, which is used to write the Punjabi,
Sindhi, and Lahnda (now considered to
consist of Siraiki and Hindko) languages.
Lahnda, Gurmukhi, and two other scripts
used in northwestern India—Sharada
and Takri—make up a related group that
is probably descended from a common
ancestor. According to Sikh tradition,
Gurmukhi (literally, “from the mouth
of the Guru”) was invented in the
mid-16th century by Angad, the second
Sikh Guru (head of the Sikh religion), in
order to correct certain inadequacies in
the Lahnda script so that sacred literature
might be accurately recorded.

51. (d) 52.(c)S53. (d) 54.(d)

55. (a) In the southern expedition
he encountered with twelve kings
and defeated them, set them at liberty
and allowed them to rule as feudatory
chiefs of the South. This policy of
Samudragupta is described as Digvijaya
or defeating the enemy kings of the
South, Grahana or getting the authority

over the kingdoms and then Anugraha
allowing them to rule their Kingdoms
under his Suzerainty.
56. (b) Ryotwari System
* Ryotwari System was introduced by
Thomas Munro in 1820.

* Major areas of introduction include
Madras, Bombay, parts of Assam
and Coorgh provinces of British
India.

* In Ryotwari System the ownership
rights were handed over to the
peasants. British Government
collected taxes directly from the
peasants.

* The revenue rates of Ryotwari
System were 50% where the lands
were dry and 60% in irrigated land.

Mahalwari System

* Mahalwari system was introduced in
1833 during the period of William
Bentick.

e It was introduced in Central
Province, North-West Frontier,
Agra, Punjab, Gangetic Valley, etc.
of British India.

* The Mahalwari system had many
provisions of both the Zamindari
System and Ryotwari System.

¢ In this system, the land was divided
into Mahals. Each Mahal comprises
one or more villages.

* Ownership rights were vested with
the peasants.

e The villages committee was held
responsible for collection of the
taxes.

57. (c)

58. (d) A dargah a shrine built over the
grave of a revered religious figure, often
a Sufi saint or dervish. Sufis often visit
the shrine for ziyarat, a term associated
with religious visits and pilgrimages.

59. (a)

60. (a) Garrison towns : A town
containing a military base or basically
locations/places where army contingents
are posted
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61. (a) 62. (d) 63. (c) 64. (¢

65. (d) 66. (b) 67. (b) 68. (d)

69. (b) 70. (b) 71. (d) 72. (a)

73. (d) 74. (a) 75. (c) 76. (c)

77. (a) 78. (c) 79. (c) 80. (d)

81. (c) 82. (b) 83. (b) 84. (b)

85. (d) 86. (b) 87. (a) 88. (c)

89. (b) 90. (a)

91. (b) According to passage the
statement,‘“He/She does not enjoys a
picnic in the train” is not true.

92. (b) The word ‘coupon’ given in the
passage means ‘a railway ticket’.

93. (a) The phrase, ‘draws out’ as used
in the passage means, ‘moves out’.

94, (d) The word ‘past’ in the sentence,
“People are pushing past you.” is a
preposition that means, ‘in front of” or
‘beyond’.

95. (a) 96. (d) 97. (b) 98. (c)

99. (a)

100. (d) The neighbours meet in the
spring season to fill the gaps in the wall.

101. (c) The neighbours have to use
a spell to fix the irregular stones in the
wall.

102. (¢) The figure of speech used in
the lines 9-10 is Irony.

103. (a) Metaphore

104. (b) The hunters' main aim is to
catch the rabbits.

105. (b) The gaps in the wall are made
by hunters.

106. (b) An endangered language is
a language that is at risk of no longer
being used, as its speakers shift to
another language or die out. It is a serious
concern.

107. (a) word collocations are words
that go together naturally in English, e.g.
deep feeling, heavy rain, strong smell.

108. (a) skimming reading is a
technique that use rapid eye movement
and keywords to move quickly through
text for shightly different purposes.

109. (b) The sight words are developed
by Dr. Edward Fry with the help of words
in meaningful context in the 1950s which
were updated in 1980.

110. (d) Language is a medium of
expression of views of one person to
others as members of a social groups
by speaking, writing, signs which is
governed by a system of rule.

111. (a)

112. (c) Extensive reading is a reading
methodology for pleasure and overall
understanding of the text.

113. (d) 114. (c) 115. (a) 116. (b)

117. (c) Bottom-up approach to
listening is applied when a listener
understand language sound by sound
or word by word, with less use of
background knowledge.

118. (a) The teacher is creating (print)
language rich environment in the
classroom.

119. (d)

120. (c) LAC stands for Language
Across the Curriculum.
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R siiee foreor ahen iR gfaurere
Bl & ft wEl off 95 gH@ 8, Sl e
FIET 1 SYAN H Hehd B

122. (d) va ® &aa 12 wfaer SE 6t
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foavaferemea foen 9 ofea ® W 2

123. (d)
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127. (a) Sfeh afiers fren erefiel @ik
gfaerste © iR 98 e 9 e
R U B T &l o F oft Suerss 2

128.(b) 129.(d) 130.(a) 131.(c)

132. (b) ‘ seRsu o1 Fraw’ faw 78 <@
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PART-I : CHILD DEVELOPMENT AND PEDAGOGY

Directions: Answer the following
questions by selecting the correct/
most appropriate options.

1. The development from central
part of the body towards
peripheries or extremities denotes
the—

(a) principles of radiated
development
(b) principles of decentralized
development
(c) principles of proximodistal
development
(d) principles of cascade
development
2. School is an institution of
socialization of children where—
(a) school children occupy the
central position
(b) school routines occupy the
central position
(c) school activities occupy the
central position
(d) school teachers occupy the
central position
3. If you join a teacher fraternity
and choose to dress like most of
the others in your group, you are
exhibiting—
(a) group identity
(b) obedience
(c) compliance
(d) conformity

4. The concept of object permanence
is attained during Piaget’s

stage of development.
(a) sensorimotor

(b) preoperational

(c) concrete operational
(d) formal operational

. Individualized Education

Programme is planned from
the perspective of—

(a) Special Education Programme
(b) Child-centered Education

Programme

(c) Open School Education
Programme

(d)e-Learning Education
Programme

. Between __ months of age,

most children begin to combine
words into short sentences while
speaking.

(a) 12 and 18

(b) 18 and 24

(c) 24 and 30

(d) 30 and 36

. The concept of Intelligence

Quotient or 1Q was developed

by—
(a) Galton (b) Binet
(c) Stern (d) Terman

. Creativity is thought to be related

to the concept of—

(a) fluid intelligence

(b) crystallized intelligence
(c) convergent thinking

(d) divergent thinking

9.

10.

11.

12.

13.

The acceptable sound
combinations of a language are
specified in its ____ rules.

(a) phonological (b) grammatical
(c) syntactic (d) inflection
The position where thought
patterns are influenced by
language is called—

(a) cultural tendency

(b) linguistic determination

(c) cognitive bias

(d) sociolinguistic genesis

Ravi repairs appliances by testing
hypothesis about the cause of
the malfunction based on his
experiences with the symptoms.
He uses—
(a) insight (b) algorithms
(d) heuristics
Divya often divides the assigned
job into small tasks which she
can handle easily. She is using—

(c) mental set

(a) reductionism

(b) secondary elaboration

(c) subgoal analysis

(d) functional fixedness

“Society determines the roles of

male and female.” This statement

articulates—

(a) gender as an inherent construct

(b) gender as
endowment

(c) gender as an intuitive construct

(d) gender as a social construct

a hereditary
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14.

15.

16.

17.

18.

19.

Grading, coding, marking and
credit accumulation systems are
some of the examples of—

(a) evaluation procedure of answer
sheets of the examination

(b) symbolizing position of
children in the class

(c) depicting the academic
progress in report card

(d) scoring procedure of assessment
of learners’ achievement

Assessment of learners’

achievement helps the teachers

to—

(a) maintain the performance
record of learners

(b) evaluate the effectiveness of
pedagogy

(c) make ability grouping of
learners in the classrooms

(d) prepare activity log for teaching

Inclusive Education is based on

the principle of—

(a) social equilibrium

(b) equity and equal opportunities

(c) social existence and
globalization

(d) world brotherhood

The Rights of Persons with

Disabilities Act has been enacted

in the year—

(a) 1992 (b) 1995

(c) 1999 (d) 2016

Children with individual

differences should be taught in

a school having teachers—

(a) to teach in different sections
of classrooms based on their
individual differences

(b) trained to wuse different
pedagogy to meet their diverse
learning needs

(c) trained to teach children with
specific individual differences

(d) trained to make
homogeneous learners

The Right of Children to Free

and Compulsory Education

Act, 2009 ensures the rights of

children with disabilities to free

education from—

them

20.

21.

22.

23.

24.

25.

(a) 6 years to 18 years

(b) 3 years to 18 years

(c) 6 years to 14 years

(d) 6 years to 22 years

Providing teaching-learning

materials in accessible formats to

the diverse learners implies—

(a) Universal Inclusive Education
Ethical Considerate

(b) Universal Code of Teaching
Practices

(c) Universal Humanistic
Approach of Teaching

(d) Universal Design of Learning

__ involves self-awareness and

control of congnitive abilities, e.g.,

planning, reviewing and revising,

etc.

(a) Centration

(b) Metacognition

(c) Cognition

(d) Accommodation

When children think to interpret

the received information

according to their experiences,

it is called—

(a) reflective thinking

(b) creative thinking

(c) abstract thinking

(d) concrete thinking

Teaching learners at varying

levels of difficulty based on the

ability of individual learner is

known as—

(a) differentiated instruction

(b) selective instruction

(c) precision teaching

(d) errorless instruction

Maintenance is the specific stage

of learning which is antecedent

to __ stage of learning.

(a) acquisition

(b) motivation

(c) independent

(d) generalization

Zajonc believes that cognition

and emotion are—

26.

27.

28.

29.

30.

(a) interdependent

(b) independent

(c) interrelated

(d) integrated

A teacher is teaching children
by demonstration of a task to
correct the performances of an
already learned task. He is using
_ method of teaching.

(a) imitation (b) observation
(d) modelling
According to Mann and Janis,
decision maker children analyze

(c) correction

the problem, list the alternatives
and weigh each option for its
advantages and disadvantages.
His behaviour reflects—

(a) surveillance

(b) vigilant

(c) outgoing

(d) autocratic

In __ thinking, a child as a
problem solver evaluates the
truth or likelihood of statements.
(a) creative

(b) aesthetic

(c) abstract

(d) logical

The task in which the children
get experience while enjoying
themselves is known as—

(a) drill and practice task

(b) consumer type task

(¢) producer type task

(d) problem type task
Multisensory approach in
the
simultaneous use of visual,
auditory, tactile and ____ senses
to enhance learning.

(a) kinesthetic
(b) vestibular
(c) perceptual

teaching-learning is

(d) observational
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PART-II : SOCIAL STUDIES/SOCIAL SCIENCE

Directions: Answer the following
questions by selecting the correct/
most appropriate options.

31.

32.

33.

34.

Wind vane is used for measuring—
(a) wind velocity

(b) air pressure

(c) wind direction

(d) air temperature

Which one of the following layers
of the atmosphere helps in the
transmission of radio waves?
(a) Stratosphere

(b) Mesosphere

(c) Thermoshpere

(d) Exosphere

Identify the various layers of the
Earth in order from interior to
the outermost layer:

(a) Curst, mantle, outer core, inner
core

(b) Mantle, crust, outer core, inner
core

(c) Inner core, outer core, crust,
mantle

(d) Inner core, outer core, mantle,
crust

Observe carefully the location of

the Sun, Earth and Moon in the

given diagram and tell what it

O Moon

depicts:

-

(a) Solar eclipse (b) Lunareclipse

(c) Spring tide (d) Neap tide

35.

36.

37.

38.

39.

40.

When the river enters the plain,
it bends and flows forming large
bends known as—

(a) levee (b) floodplain
(c) meander (d) oxbow lake
Which means of transport
is extremely useful in most
inaccessible areas and in time of
calamities for rescuring people
and distributing food, water,
clothes and medicines?

(b) Railways
(d) Waterways
The branch of geography which
deals with compostion of a
particular human population is
called—

(a) Airways
(c) Roadways

(a) urban geography

(b) biogeography

(c) demography

(d) human geography

Assertion (A):

The Sun sets in Gujarat about

two

hours after Arunachal Pradesh.

Reason (R):

Arunachal Pradesh is on a higher

latitude than Gujarat.

Select the correct option from

the given alternatives.

(a) Both (A) and (R) are true, and
(R) explains (A)

(b) Both (A) and (R) are true, but
(R) does not explain (A)

(¢) (A) is true and (R) is false

(d) (A) is false and (R) is true

Which one of the following is

a non-conventional source of

energy?

(a) Firewood  (b) Natural gas

(c) Solar energy (d) Coal

The breeding of fish in specially

constructed tanks and ponds is

known as—

(a) sericulture  (b) viticulture

(c) horticulture (d) pisciculture

41.

42.

43.

44.

45.

46.

A narrow strip of land joining
two landmasses is known as—
(a) strait (b) isthmus

(c) island (d) bay

Which one of the following

continents is smallest in size?

(a) Australia

(b) South America

(c) Africa

(d) Europe

At the upper primary stage,

Social Science comprises of—

(a) History, Geography, Political
Science, Psychology

(b) History, Geography, Economics,
Sociology

(c) History, Geography, Political
Science, Economics

(d) History, Geography, Political
Science, Sociology

Inductive learning is contradictory

to which one of the following

approaches?

(a) Expository teaching

(b) Structure training

(c) Simulation

(d) Mastery learning

Read the given statements A and

B and select the correct answer:

A. Critical thinking promotes
the building of concepts,
application and expansion
of ideas.

B. It does not help in under-
standing and evaluating
arguments and beliefs of
others.

(a) A is true and B is false

(b) A is false and B is true

(c) Both A and B are false

(d) Both A and B are true

What is an empirical evidence?

(a) Data gathered in the real world
through the senses

(b) A numeric approach for
research

(c) Data measured in metric units

(d) Data gathered using reliable
methods of data collection
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47.

48.

49.

50.

51.

52.

The models/replicas of physical
features are most suitable for
teaching—

(a) History

(b) Economics

(c) Geography

(d) Political Science

The collection of weather
information from the local
neswpaper is an example of which
type of source?

(a) Primary

(b) Secondary

(c) Tertiary

(d) Both primary and tertiary

In which type of classroom, the
students with learning disabilities
learn alongside other students?

(a) Exclusive  (b) Special

(¢) Inclusive (d) Modern
Who has given the following
theory?

“All children go through the

same sequence of development,

but at different rates. Therefore

teacher must plan activities for

individual children and small

groups, not just for the class as

a whole.”

(a) C. L. Ogden (b) D. Purcell

(c) J. H. Bell (d) J. Piaget

In order to promote cooperative

learning in the classroom, a

teacher should—

(a) engage students in debate and
discussions

(b) give them individual projects

(c) divide the class in small groups
for work

(d) provide them various sources
to do the projact

A self-guided, self-disciplined

thinking which attempts to

reason at the highest level of

quality in a fair-minded way is

called—

(a) critical thinking

(b) complex thinking

(c) intelligent thinking

(d) abstract thinking

53.

54.

S5S.

56.

57.

58.

59.

60.

The colours used in the Ajanta

Caves Paintings have been

derived from which of the

following materials?

(a) Remains of animal organs

(b) Graphite

(c) Plants and minerals

(d) Slate

The earliest manuscripts were

written on—

(a) palm leaves (b) stones

(c) paper (d) wood

Which one of the following

periods is longest in the human

history?

(a) Palaeolithic (b) Mesolithic

(c) Neolithic (d) Megalithic

Read the given statements A and

B and select the correct answer:

A. Mehrgarh is located in a
fertile plain near Bolan Pass
of Pakistan.

B. Evidences of forming and
herding are found here.

(a) A is true and B is false

(b) A is false and B is true

(c) Both A and B are false

(d) Both A and B are true

In which one of the following

States of India, the largest

number of Harappan sites have

been found?

(a) Punjab

(b) Haryana

(¢) Gujarat

(d) Jammu and Kashmir

‘Rig Veda’ was originally

composed in which one of the

following languages?

(a) Brahmi (b) Pali

(c) Sanskrit (d) Prakrit

The first ruler of Magadha Maha-

janapadas in the sixth century

BC was—

(a) Mahavira

(c) Bimbisara

(b) Prasenjit
(d) Ajantashatru
Which one of the following is
not among the three jewels of
Buddhism?

61.

62.

63.

64.

65.

66.

67.

(a) Buddha (b) Dhamma
(c) Ahimsa (d) Sangha
Who among the following elects
the Rajya Sabha Members?

(a) Voters in Assembly
Constituencies
(b) Voters in Parliamentary

Constituencies

(c) Lok Sabha Members

(d) Members of Legislative
Assemblies (MLAS)

Which of the following systems

of government was adopted by

India?

(a) Parliamentary and Unitary

(b) Presidential and Federal

(c) Presidential and Unitary

(d) Parlimentary and Federal

How many Parliamentary

Constituencies are reserved for

the Scheduled Castes?

(a) 48 (b) 84

(c) 47 (d) 74

Which on of the following

Fundamental Rights is violated

due to practice of untouchability

in India?

(a) Right to Equality

(b) Right to Freedom

(c) Right against Exploitation

(d) Right to Constitutional
Remedies

As per the Constitution of India,

which one of the following is not

a Fundamental Right?

(a) Right to Education

(b) Right against Exploitation

(¢) Right to Freedom of Religion

(d) Right to Property

Untouchability refers to the

discrimination on the basis of—

(a) physical disability

(b) gender

(c) caste

(d) race

‘Who appoints the Chief Minister?

(a) The President

(b) The Prime Minister

(¢c) The Governor

(d) The Chief Justice of the High
Court
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68.

69.

70.

71.

72.

73.

74.

75.

Who appoints the Governor?

(a) The Prime Minister

(b) The Chief Minister

(c) The Chief Justice of India

(d) The President

Who elects the Prime Minister?

(a) The Council of Ministers

(b) The Chief Ministers

(c) MPs

(d) MPs and MLAs

‘Who among the following is called

the first citizen of India?

(a) The Chief Justice of India

(b) The Home Minister

(¢) The President

(d) The Prime Minister

Who among the following is

called the first citizen of a State

in India?

(a) The Chief Justice of the High
Court

(b) The Home Minister

(c) The Governor

(d) The Chief Minister

The current Lok Sabha (from

2014 onwards) is the—

(a) 13th (b) 14th

(c) 15th (d) 16th

Who is the current President of

India?

(a) Narendra Modi

(b) Pratibha Patil

(c) M. Venkaiah Naidu

(d) Ram Nath Kovind

Which of the following is not

mentioned in the Constitution

of India?

(a) Names of the States and Union
Territories

(b) Structure of the Government

(c) Names of political parties

(d) Rights of the citizens

Who nominates Members to the

Rajya Sabha?

(a) The President

(b) The Vice President

(c) The Prime Minister

(d) The Chief Justice of the
Supereme Court

76.

77.

78.

79.

80.

81.

82.

Who among the following was

the President of the Constituent

Assembly of India?

(a) C. Rajagopalachari

(b) Dr. B. R. Ambedkar

(c) Dr. Rajendra Prasad

(d) Jawaharlal Nehru

Who among the following was the

only Indian Governor-General of

India?

(a) Dr. Sarvepalli Radhakrishnan

(b) B. Pattabhi Sitaramayya

(c) T. T. Krishnamachari

(d) C. Rajagopalachari

When was the Constitution of

India adopted?

(a) August 15, 1947

(b) November 26, 1947

(c) November 26, 1949

(d) January 26, 1950

Who among the following played

a decisive role in integrating the

Princely States of India?

(a) Jawaharlal Nehru

(b) Sardar Valabhabhai Patel

(c) Dr. B. R. Ambedkar

(d) C. Rajagopalachar

Which of the following deal with

the matters in the Concurrent

List of the Constitution of India?

(a) Union Government and State
Governments

(b) State Government and Local
Government Bodies

(c) Union Territories

(d) Local Government Bodies

Who among the following was

the Chairman of the Drafting

Committee in the Constituent

Assembly of India?

(a) C. Rajagopalachari

(b) Dr. B. R. Ambedkar

(c) Dr. Rajendra Prasad

(d) Jawaharlal Nehru

In the 18th century, under whom

did Bengal gradually break away

from the Mughal control?

(a) Murshid Quli Khan

(b) Nadir Shah

(c) Alivardi Khan

(d) Burhan-ul-Mulk

83.

84.

85.

86.

87.

88.

Who among the following
Governor- Generals decided that
Bahadur Shah Zafar would be the
last Mughal emperor and after
his death none of the descendents
would be recognized as a ruler?

(a) Lord Dalhousie

(b) William Bentinck

(c) Lord Canning

(d) Loard Cornwallis

Which Governor-General

declared that Awadh was being

misgoverned and British rule
was needed to ensure proper
administration?

(a) Lord Ripon

(b) Lord Canning

(c) Lord Dalhousie

(d) Lord Mountbatten

Which ruler of Kanpur called

himself ‘Peshwa’?

(a) Nana Saheb

(b) Bajirao 1

(c) Bajirao II

(d) Bahadur Shah Zafar

The best methodology to teach

the theme ‘Factory’ would be—

(a) to narrate a story

(b) to invite a resource person

(c) to organize a visit to an
industrial

(d) to screen a documentary film

What is EDUSAT?

(a) The rocket that carries man-
made satellites to be placed
in the orbit around the Sun

(b) A newly discovered planet in
the solar system

(¢) An asteroid found between the
orbits of Mars and Jupiter

(d) A man-made Indian satellite

The verses and ideas of which

one of following personalities have

been preserved in ‘Panchvani’ and

‘Bijak’?

(a) Mirabai

(b) Kabir

(¢) Guru Nanak

(d) Ravidas
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89. The mural painting from Ellora
Caves which shows Vishnu as
Narasimha, the man-lion, is a

work of which period?
(a) Gurjara-Pratihara period
(b) Rashtrakuta period

(c) Chalukya period
(d) Gupta period

90. Which one of the following
organizations believes in
Upanishads?

(a) Brahma Samaj

(b) Ramakrishna Mission
(c) Satyashodhak Samaj
(d) Seva Samaj

PART-III : LANGUAGE-I (ENGLISH)

Directions: Read the passage carefully
and answer the questions that follow
(Q. Nos. 91 to 99) by selecting the
correct/most appropriate options.
Born out of the forces of globalization,
India’s IT sector is undertaking some
globalization of its own. In search of new
sources of rapid growth, the country’s
outsourcing giants are aggressively
expanding beyond their usual stomping
grounds into the developing world;
setting up programming centres, chasing
new clients and hiring local talent.
Through geographic diversification,
Indian compaines hope to regain
some momentum after the recession.
This shift is being driven by a global
economy in which the US is no longer
the undisputed engine of growth. India’s
IT powers rose to prominence largely
on the decisions made by American
executives, who were quick to capitalize
on the cost savings to be gained by
outsourcing noncore operations, such as
systems programming and call centres,
to specialists overseas.

Revenues in India’s IT sector surged
from $4 billion in 1998 to $59 billion
last fiscal, but with the recession
NASSCOM forecasts that the growth
rate of India’s exports of IT and other
business services to the US and Europe
will drop to at most 7% in the current
fiscal year, down from 16% last year
and 29% in 2007-08.

Factors other than the crisis are driving
India’s IT firms into the emerging world.
Although the US still accounts for 60%
of'the export revenue of India’s IT sector,
emerging markets are growing faster.
Tapping these more dynamic economies

won’t be easy, however. The goal of
Indian IT firms for the past 30 years
has been to woo clients outside India
and transfer as much of the actual work
as possible back home, where lower
wages for highly skilled programmers
allowed them to offer significant cost
savings.With costs in other emerging
economies equally low, Indian firms
can’t compete on price alone.
To adapt, Indian companies which are
relatively unknown in these emerging
nations are establishing major local
operations around the world, in the
process hiring thousands of locals.
Cultural conflicts arise at times while
training new recruits. In addition, IT
firms also have to work extra hard to
woo business from emerging-market
companies still unaccustomed to the
concept of outsourcing. If successful,
the future of India’s outsourcing sector
could prove as bright as its past.

91. What is the author trying to
convey through the phrase
“India’s IT sector is undertaking
some globalization of its own”?
(a) India has usurped America’s

position as the leader in IT.

(b) The Indian IT sector is
competing with other emerging
nations for American business.

(c) The Indian IT sector is
considering outsourcing to
developing economies.

(d) Indian IT firms are engaging
in expanding their presence
internationally.

92. Which of the following factors
made the services offered by the
Indian IT attractive to the US?

93.

94.

A. Indian IT companies had
expertise in rare core
operations

B. The US lacked the necessary
infrastructure and personnel
to handle mass call centre
operations

C. Inability of other equally cost-
efficient developing countries
to comply with their strict
policies

(a) None

(b) Only A

(c) Only A and B

(d) Only C

What has caused Indian IT firms

to change the way they conduct

business in developing countries?

(a) The volume of work being
awarded cannot be handled
by Indian firms

(b) The demands of these markets
are different from those of
India’s traditional customers

(c) Wages demanded by local
workers are far higher than
what they pay their Indian
employees

(d) Stringent laws which are not
conducive to outsourcing

What do the NASSCOM statistics

about Indian IT exports indicate?

(a) Drop in demand for IT services
by Europe and the US

(b) Indian IT firms charge
exorbitantly for their services

(¢) India has lost out to other
emerging IT hubs

(d) The Indian IT sector should
undergo restructuring
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95. According to the passage, which
one of the following is not a
difficulty that Indian IT firms
will face in emerging markets?
(a) Mindsetresistant to outsourcing
(b) Local IT services are equally

cost-effective

(c) The US is their preferred
outsourcing destination

(d) Conflicts arising during the
training of local talent

96. Which of the following is/are
not true in the context of the
passage?

A. The recession severely
impacted the US but not
India.

B. India is trying to depend
less on the US as a source
of growth.

C. The future success of
Indian IT firms depends on
emerging markets.

(a) Only B and C

(b) Only A

(c) Only B

(d) All A, B and C

97. Which one of the following words
is most similar in meaning to the
word ‘chasing’ as used in the
passage?

(a) Running (b) Harassing

(c) Pestering (d) Pursuing

98. Which one of the following words
is most opposite to the meaning of
the word ‘undisputed’ as used in
the passage?

(a) Challenging (b) Doubtful

(d) Emphasized

99. Other than crisis, what is driving
IT companies to seek other
options?

(a) The US makes more than 60%
of India’s export revenue

(b) Emerging markets

(c) None of the above

(d) Both (a) and (b)

(c) Deprived

Directions: Read the extract given
below and answer the question
that follow (Q. Nos. 100 to 105)
by selecting the correct/most
appropriate options.
Break, Break, Break,

On thy cold gray stones, O Sea !
And I would that my tongue could
utter

The thoughts that arise in me.
0O, well for the fisherman’s boy,

That he shouts with his sister at
play!

O, well for the sailor lad,

That he sings in his boat on the
bay!

And the stately ships go on

To their haven under the hill;
But O for the touch of a vanish’d
hand,

And the sound of a voice that
is still!

Break, Break, Break

At the foot of the crage, O Sea!
But the tender grace of a day that
is dead

Will never come back to me.

100. What is ‘breaking’ in ‘Break,
Break, Break’?
(a) The sea
(b) Poet’s heart
(c) The wind
(d) The sunshine through the

clouds

101. The mood of the speaker in
‘Break, Break, Break’ is—
(a) contemplative and hopeful
(b) lightearted
(c) somber and grieved
(d) energized

102. The speaker in ‘Break, Break,
Break’ observes all the following,
except—
(a) children playing
(b) a sailor boy singing
(c) a lady in a tower
(d) ships coming in

103. The speaker of ‘Break, Break,
Break’ cannot—
(a) feel
(c) speak

(b) see
(d) hear

104. In the first two lines of the poem,
the poet uses—

(a) simile (b) apostrophe
(c) assonance  (d) metaphor

105. The phrase ‘haven under the hill’
is an example of—
(a) simile
(b) metaphor
(c) alliteration
(d) personification

Directions: Answer the following

questions (Q. Nos. 106 to 120) by

selecting the correct/most appropriate
options.

106. Which one of the following does
not come under the principle of
selection and gradation?

(b) Awvailability

(d) Frequency

(a) Accuracy
(c) Coverage
107. The phenomenon, where a single
word is associated with two
or several related meanings, is
known as—
(a) homonyms (b) homograph
(c) polysemy  (d) homonymy
108. “The dog lived in the garden, but
the cat, who was smarter, lived
inside the house” is an example
of—
(a) simple sentence
(b) complex compound sentence
(c) complex sentence
(d) compound sentence
109. If a student of language is
cramming his/her answers, then
he/she would not be able to—
(a) attempt question answers
(b) attempt vocabulary-based
exercise
(c) attempt structural questions
(d) attempt creative writing
110. During reading, if a student is
piercing information together as
they read a text keeping track of
what is happening, he/she is—
(a) inferring (b) skimming
(c) paraphrasing (d) synthesizing
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111. Which one of the following does | 115. Which one of the following | 117. If you are listening to the
not affect the intonation? can be used as a rubric for description of how to reach a
(a) Voice/Pronunciation the assessment of fluency and specific location, then you are
(b) Tone coherence of language? doing—
(c) Rhythm (a) Can express with some (a) casual listening
(d) Loudness flexibility and appropriacy on (b) focused listening
112. are involved in thinking. variety of topics (c) intensive listening
(a) Image, language, imagination, (b) Can initiate and logically (d) extensive listening
proposition develop simple conversation | 118. If a language teacher has put
(b) Image, imagination, concept, on a familiar topic the words ‘school, teacher,
proposition (c) Is always comprehensible, uses headmaster, peon’ in a group, then
(c) Imagination, language, concept, appropriate intonation she is following—
proposition (d) Demonstrates hesitation to (a) lexical grouping
(d) Image, language, concept, find qud or use correct (b) semantic grouping
proposition .grammatlcal struc'fure‘s (c) phonetic grouping
113. Language laboratory is the place 116. WPldf one of the following is not the (d) grammatical grouping
where the learners have to listen objec.tlve deﬁl_led by NCF'ZO?S for 119. “At the initial stages of language
on headphone. The language labs teaching English at upper primary learning,  may be one of the
are set up with a view to provide level? ) ) ) language for learning activities
listening activities in order to (a) Tonegotiate their own legrmng, that create the child’s awareness
develop— goals and e\./aluate. their own to the world.”(NCF-2005)
(a) analysis habit gjgi%rz:’n ti;li)t;krewse, review (a) English
(b) speech habit (b) To use dictionary suitable to (b) Vernacular language
(c) c.ritici.zing hé.lb.it. their needs () Sejcor.ld language
(d) listening activities (©) To be able to articulate (d) Hindi
114. Grammar-translation method is individual/personal responses 120. Little or no attention is given to
basically used to teach— effectively pronunciation in ____ method.
(a) grammar (d) To promote learners’ (a) audio-lingual
(b) foreign language conceptualization of printed (b) grammar-translation
(c) rules of any language usage texts in terms of heading, (c) CLT
(d) classical language paragraph and horizontal lines (d) SLT
WRT IV : ATET-II ( fe=i )
Frdor: r fqq T oTTRE I UgeR OB | # WEd ¢ SR 3T hfoaiehl ¥ o Al | SH Tee Hifem ® wifta BW & fe

T U (UeT W 121 ¥ 128) & W/
HaH U IW A faehed @l g
T AfSl 9gd HaW Wied ®I gien 9@
Ffi 31 F® werad ¥ wEl ot @@ g
Tdg wifed o1 HYH AR STAEHN,
FEM-o@h AR Higd W @l @l
S B W A Wiq USE Sy ad h
g W e § ga wfad w @ g
rIfsier e & faci® Sohars! S
Y ia-did 21 TEH YRER, o=, I
F BeR SR UH T erel wH i
9| H T B ®, BW QN SEad

T o T ¥ W TR ¥ W T
ey E T R 39 W ufiem w1 g
21 oo @® ® % 9% Wm0 Sehae U
BR-W HAE W W ® W@ 2§,
Hifefers a9 W a6 T BR-U 99R
o gAhl o et B fREE, wegy, S
IO H P ® €, R A ghema &
WOm I Wed ©, 3 T8 uHe &
T ¥l T 9 O Agafn e A g
TeAme  fovafaae &1 @ &1 989
TH & fag dfifwm fen wn sw g9

g T, A H ueeE § @ fa R
T8 o TH fgF wm & e o
& ¥ MY FW gC BT oA H
BM aefl ®WHe @t Hifen § SW &
o fear @ fFeh 3 w1, “TER W™
d e deme (M) SR Fd H 'R
9O s fed @, gl e wed
X Ged SR §4 e’ #1 g
T FE-“H, A PR dEd § oA H
W & T Sm” qsf R @ e,
Yo T W OE T "Rl
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121. ‘gar wfaEl @t W& g’ @ e
aE §?
(a) @ ®fa st U fomi W fa@
w® g
(b)a wfg St off Tw gar
(c) 3 Fa1 Hfg fS= e T&
e ©
(d)3 g &g st Ju fawi W
fom @ %
122. U<l & 9AT Higdl & @ Hl
fero
(a) goAaren (b) ==
(c) 9==R (d) srEATe
“ehferdiell 1 WEd G T 217
ot A erfauma §-
(a) hfoaed | oeg afv=sm 9 geifad
Ed
(b) wfaaet o v afvem ¥ garfad
T 2
(c) wfomett =1 eifweafe  afv=m
9 gurfaa 2l
(d) wfamsti w1 e uftem ®
geife 21
124. 31T & &N W oAy f&
feremt vimoT B T@T R
(a) forami @ik wfaal &
(b) i IR HSIY T
(c) wfeai @R wi@shi
(d) forami @R HSIgh
125. 278 @& oMU W waRy f&
U Wi & AEH HHRAG: @
TETd 2
(a) Fai-osmE (b) Fal-o
(c) F ¥R ¥e (d) T
126. T WG A W A A g
(a) SHHT R W =™ T
(b) St W W Sk A
(c) ST W’ W Tl S
(d) ST TR W = TS

127. “58 W ufem = T 3”7 e

123.

(a) "auam=ass  (b) faurer=R

(ORSEEED (d) HeeET=®
128. “mitor, Trfees, Jar’ oY v -

(a) &= (b) T™

(c) fergrmon (d) fwan

frdor: = fqu U ewE W ugeR
U3 T uv (W9E | 129 ¥ 135)
& WE/UEH IUgE ST At faekeq
EIlCIE Ly
ehd TSl 2ot & ogd g Freasr
N ¥ W g o s o a3
W o T g o F8 T ol
g SRR we 5 A o el @
T O A vee ¥ & wer H off, T oar
% wer w1 werq fewm g femn @ Afd
The B M @ famel w1 et ufEw
I H, @W-99 BH # WeE wl & fees
H HH 2l I T8 W-9F hY B2 Fed
g Ocw 39 oE® ¥ st wEg H HA
S € fR v @ faEo e|wm et
T, 9 o fmE <@ ¥, oW wmm =
‘W' T U YA H, awE W wHg d
@I 98 q Yhe Bl €, oW H -
T FA A A A g
HSE H WH Sl € qd T w9, W
v, W @ H GY U ded 2 -
Y FY HW gL SN W W U
B T, 9 W feen R s fren &
T S Wehdl, dfch I W sigpRa B
T O s@ ek § T wew Wt @
TeE I Bl S UM % Sigid €W H,
O UPfoold BH H WM BH FB Tl
FRGHA W T WE-UH A, FRE
N, W hi SHEEl G X HWehd ©
129. 3T & YR W HET 1 Fehal

g for-

(a) fomen < woa ©

(b) foream < W & R

(c) fen fermera o foerdt 2

(d) foren wfem # frert 2
130. forerer =1 wm@ &-

(a) faeneft =1 @d 9 ufifeq wa

(b) Fremeft 1 T @ wRPE

(c) famneft =t fowai @ ufifea wam

(d) foemeff =+ forew-Fen & R

HIA
131. ‘@’ &1 Wehed W Bram R
(a) Terft (b) =
(ORES (d) A

132. =28 ® wrE-urt o, FE o

w SEEIUT warar ¢ R forerm
wT HE el -
(a) AISFE-THT 2 R ©
(b) FEifE w2
(c) P W ¥ #
(d) s faEmr ®

133. ‘='-

(a) SFHA B ?
(b) wehTeT B ®
(c) foFtor =t 2
(d) o159 =@

134. “3 9§ ¥ Hfar s oa”
arem § wfagmor -
(a) @ (b) ==t
(c) g (d) =t

135. ‘sigpia’ o # wem -
(a) 3 (b) f@
(c) @ (d) &

frder: frar faw @ ww (e | 136

| 150) & WE/HEH UGS ST ATl
fawmea & g
136.3sa1 WGk T W WIET
HrE-faE™ &1 T Sev & -
(a) =0 & |t Frml w1 hewy
HET

(b) wifer &t T TS v fauned
HT T

(c) fedt 91 & oy sfem &
TR A S

(d) 9o 1 FrEHeg Ypid i wE=H
AR ST foveTor wET

137. ft wr Wi & wasl § wem
e W UgH 9 a= W Y
afym € T @'-

(a) & w1 w1 W fEmEe
H TE Th

(b) & wr & Hereri 3R it
Ealie Elk:c

(c) fafa= weaf & & 9w &
YT FART H TR

(d) TEH Y AT HT YA T
W Hh
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138. et s dem-faam & fag
P €-
(a) 9T 1 UIGI-T&Ih i ST
(b) TgE TW-UREY HT IUTSIT
(c) & s =+t fafea whan
(d) w1 w1 3wI-gem 9l &

ERGEnl

139. oo WrgfHehdar @)X WX et e
& offehe § Wad Wewaqul §-
(a) & 91 & =R H FAHRR
(b) &t wron =1 sRifeR=i wt THA

9 WA

(c) & v = wfecrsrni 1 SRRt
(d) & o =t AR S T SRR

140. 9T oS & Wy W wME-WT
®HUT WE 2?7
(a) 78 Wewl a1 2l
(b) & WA B T
(c) 7& wfsd =@ 2l
(d) 78 Hr@r wmr 2l

141. 3= wafus ww W fafu= fawai
W MTRA USt i uTed-UEeh
A wnfer Y w0 ST B-
(a) st =t fafy=1 famat 1 SR

G|
(b) =i w1 fafv= wgfeai @
qifad T

(c) o= fawai =1 diee d Heg T
(d) s fawai &1 et wT

142. 3TTehe™ &1 WA & faw gmn
=feul
(a) e # WR
(b) fora Hr@n & s
(c) T et
(d) 91w SRR
143. 99-977 W@t &1 WA A
SUGRTt BT & W S
(a) 39 90 WA W THH Hh
(b) 58 W 3 dfgw i < T
(c) STHT AIH T STIHWT HL Heh
(d) 9% I HT UfRA HT ol Teh
144. S=a wrarfyer &@ w fafi= segar
& fou fer S 9@ dww wwE
A wed wEvequl ¥-
(a) ST FR&I w1 fagmo= SA
(b) IR YEHH H I faEe
(c) ol el w1 3 e
(d) s’ faem
145.3%wr wigfe W wW & =
AT N AW HAAR fag §—
(a) e & AU W% TG HT
(b) T&R § dIfhehal w1 TR
(c) 9T T GoAICHE T
(d) SFfTe @ & W
146. o 3w fafe & sa—
(a) T Tifvea Hew g @
(b) #% A= ey =& g
(c) Tk difdheh Hee el @
(d) #E Fay g @ T R

147. 3=a1 wrefaer X o & amr @
MR o(d THA 3T Fei(eeh
g feg o W
(a) faf@aa wdan
(b) Hifas wden
(c) Trewiferar
(d) Sf=-w=ht

148. SgTfres e | Sl i WTETd—
(a) oga TR wEEn €, @ w

REICIE I i
(b) @O ® ¥4 H THHA Hl
W wHA ©
(c) Th fewd wwem B, S A
et 41 Rl §
(d) fedt 9 +7 weme W AR
g Tl =mfey
149. 3= Wefie WX U SR UgH
W N Ugfa W-

(a) Sfeel ¥ WA H AR S 7
(b) SSEwl ¥ M #1 R WK
(c) from & T &1 @R WW €
(d) =TI HT UST-JEIF R higd
Wl T
150. efafifea oToT &roer o e
& g R
(a) =i==RT
(b) st
(ORISEN
(d) reeeht

ANSWERS AND EXPLANATIONS

1. (c) Principles of decentralised
development is the correct choice.
According to this principle,
development takes place from the
central part of the body and moves
towards the peripheries or extremities.

2. (a)

3. (d) Group identity refers to
a sense of belonging of a person
towards a particular group. Therefore,
if a teacher dresses like most of the
other teacher, then he/she shows
a sence of belonging towords the
teacher fraternity.

4. (a) The concept of object
permanence is attained during

sensorimotor stage of development
as formulated by Jean Piaget. This
stage is from 0 to 2 years. Babies gain
knowledge through their senses and
motor developments in this stage.

5. (b) Child-Centered Education
Programme focuses on individualised
education programme that is centered
around the child. It adopts various
teaching strategies and techniques
which suits the specific needs of the
child.

6. (b) Child growth is divided into
different stages. In the age of 18 and
24 months child is no more limted to

one-word sentence. Children in this age
group start combining words to form a
short sentence.

7.(c) 8.(d)

9. (a) The acceptable sound
combinations of a language are
specified in its phonological rules. A
phonological rule is a formal way of
expressing a systematic phonological
process or diachronic sound change in
language.

10. (b) The position where thought
patterns are influenced by language
is called linguistic determination.
Linguistic determiantion is the idea that
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language and its strucutres limit and
determine human thought, knowledge
and perception.

11. (d) Algorithms are procedures
for computing or reaching to a
conclusion by performing calculations,
analysis, and reasoning that are based
on past experiences.

12. (c) Subgoal analysis means
step by step description of a process to
achieve a related goal. So, dividing the
assigned jobs into small tasks to handle
it easily is called subgoal analysis.

13. (d)

14. (d) Grading, coding. Marking
and credit accumulation system are
scoring procedure of assessment of
Learner's performance. These are part
of assessment which helps the teachers
and parents to know about the learner's
achievements.

15. (b) Assessment of learner's
achievement helps the teachers to
maintain the performance record of
learners. This helps in indicating each
learner's performance and plan effective
ways of their improvement.

16. (b)

17. (d) The Rights of Persons with
Disabilities Act have been enacted in
the year 2016 by the Indian Parliament.

The Act replaced Persons with
Disabilities Act of 1995.

Convention on the rights of person
with disabilities.

18. (b) Children with individual
differences should be taught in a
school having teachers who have been
trained to teach children with specific
individual differences: Trained teachers
can better understand the needs of
individual child and thus help in child's
development.

19. (a)

20. (d) Universal Design of
Learning refers to developing flexible
learning environments that can
accommodate individual learning
differences. So, providing appropriate
teaching-learning materials to diverse
learners in universal design of learning.

21. (b) Metacognition is the
understanding of one's own thought
process. It involves self-awareness
and control of cognitive abilities like

planning, reviewing and revising. It is
a process of higher order thinking.

22. (d) In creative thinking new
ideas, ways or thoughts are developed
to approach a particular task. The ways
to approach is based on individual
thinking pattern, experiences and
interpretation. Therefore, option (1) is
correct.

23. (a)

24. (d) While teaching the children
with disability, an intellectual hierarchy
is followed divided into four stages:
Acquisition, Fluency Maintenance and
Generalisation. So, the correct answer
is generalisation as it comes after
maintenance.

25. (b)

26. (d) When the teacher is
demonstrating the way of doing a task
again then it means that the students
are doing the task properly. Here,
the teacher has used the method of
observing the students carefully, so
option m is correct.

27. (b) Mann and Janis have
propound a specific decision making
pattern known as vigilance, where
individuals alternatives and then make
careful decisions.

28. (d)

29. (b) The drill and practice task
is a way of instruction characterised
by systematic repetition of concepts,
examples and practice problems. It is
used as an active means of teaching and
children also get enjoying themselves.

30. (a) Kinesthetic movements
require whole body movements such
as hands, legs and finger. This helps in
learning effectively. The multisensory
approach is used in classes where
children learn various actions and rhymes.

31. (¢) A wind vane, also called a
weather vane, is a tool for measuring
wind direction and was probably one of
the first weather instruments ever used.
... The arrow will point to the direc-
tion the wind is blowing from so if it is
pointing to the east, it means the wind is
coming from the east.

32. (¢) Thermosphere - 80 km and
up - The air is very thin. Thermosphere

means "heat sphere". The temperature
is very high in this layer because ul-
traviolet radiation is turned into heat.
Temperatures often reach 2000 degrees
Celsius or more. This layer contains:

1. Ionosphere: This is the lower
part of the thermosphere. It extends
from about 80 to 550 km. Gas particles
absorb ultraviolet and X-ray radiation
from the sun. The particles of gas be-
come electrically charged (ions). Radio
waves are bounced off the ions and re-
flect waves back to earth. This generally
helps radio communication. However,
solar flares can increase the number of
ions and can interfere with the transmis-
sion of some radio waves.

2. Exosphere : The upper part of
the thermosphere. It extends from about
550 km for thousands of kilometers. Air
is very thin here. This is the area where
satellites orbit the earth.

33. (b) Our Earth consists of four
different layers namely:

1. Inner Core: It is the center and
the hottest layer of the Earth. The inner
core is solid and made up of iron and
nickel with temperature up to 5,500°C.
Due to its immense heat energy, the in-
ner core is more like the engine room of
the Earth.

2. Outer Core: The outer core of
the Earth is similar to a very hot ball
of metals, whose temperature is around
4000°F to 9000°F. It is so hot that
the metals inside are all in the liquid
state. The outer core is located around
1800 miles under the crust and approxi-
mately 1400 miles thick. It is composed
of metals such as iron and nickel. The
outer core surrounds the inner core.

The inner core has pressures and
temperatures so high that the metals are
squeezed together and not able to move
like a liquid, but are forced to vibrate
instead of solid.

3. Mantle: Mantle is the widest
section of the Earth. Its thickness is
approximately 2,900 km. Mantle is
mainly made up of semi-molten rock
known as magma. The rock is hard in
the upper part of the mantle, but lower



12

Solved Paper-18 December, 2018

down the rock is softer and begins to
melt.

The mantle is located directly under
the Sima. The mantle consists of very
hot and dense rock. This layer of rock
flows like asphalt under heavy weight.
This flow is because of the greatest
temperature differences from the bot-
tom to the top of the mantle. The reason
behind the plates of the Earth move is
the movement of the mantle. Its tem-
perature varies between 1600 °F at the
upper part to 4000 °F near the bottom.

4. Crust: The crust is the outer layer
where we live. The thickness is around
0-60 km. It’s a solid rock layer divided
into two types:

1. Continental crust covers the land
and,

2. Oceanic crust covers water.

The crust is the most widely stud-
ied and understood. Mantle is hotter
and capable of flowing. The outer and
inner core are much hotter with great
pressures that you can be squeezed into
a ball smaller than a marble if you are
able to go in the center of the Earth.

34. (a) Seven days after a spring
tide, the sun and moon are at right
angles to each other. When this hap-
pens, the bulge of the ocean caused by
the sun partially cancels out the bulge
of the ocean caused by the moon. This
produces moderate tides known as neap
tides, meaning that high tides are a little
lower and low tides are a little higher
than average. Neap tides occur during
the first and third quarter moon, when
the moon appears "half full".

35. (a) Meander, extreme U-bend
in the course of a stream, usually oc-
curring in a series. Meanders, named
from the Menderes (historically known
as the Maeander) River in Turkey, are
most often formed in alluvial materi-
als (stream-deposited sediments) and
thus freely adjust their shapes and shift
downstream according to the slope of
the alluvial valley. A meandering chan-
nel commonly is about one and one-
half times as long as the valley, and it
exhibits pools in the meander bends

and riffles (shallower zones with more
turbulent water flow) in the reaches
between the meanders. The length of a
meander generally ranges from seven to
ten times the channel width.

36.(d) 37.(c) 38.(c)
39. (b) Non-Conventional Sources
of Energy:

Besides conventional sources of
energy there are non-conventional
sources of energy. These are also called
renewable sources of energy. Exam-
ples are Bio energy, solar energy, wind
energy and tidal energy. Govt. of India
has established a separate department
under the Ministry of Energy called as
the Department of Non-conventional
Energy Sources for effective exploita-
tion of non-conventional energy.

Solar Energy: Energy produced
through the sunlight is called solar ener-
gy. Under this programme, solar photo-
voltaic cells are exposed to sunlight and
in the form of electricity is produced.
Photovoltaic cells are those which con-
vert sun light energy into electricity.

40. (b)

41. (b) Isthmus, narrow strip of land
connecting two large land areas oth-
erwise separated by bodies of water.
Unquestionably the two most famous
isthmuses are the Isthmus of Panama,
connecting North and South America,
and the Isthmus of Suez, connecting
Africa and Asia.

42.(b) 43.(b) 44.(c) 45.(b)

46. (b) 47.(d) 48.(b) 49.(b)

50. (d) 51.(b) 52.(d) 53.(c)

54. (a)

55. (a) The Paleolithic Age, or
Old Stone Age in India spanned from
500,000 B.C. to 10,000 B.C in the Pleis-
tocene Period of the Ice Age. It was the
first part of the Stone Age. During this
period, man relied on hunting and had
no knowledge of cultivation and house
building. According to the nature of
tools and the change in the climate,
the Paleolithic Age in India is divided
into three phases; Lower Paleolithic
(500,000 BC to 50,000 BC), Middle
Paleolithic (50,000 BC to 40,000 BC),

and Upper Paleolithic (40,000 BC to
10,000 BC).

56. (d)

57. (b) There are two prominent sites
which are found in Gujarat are Lothal
(Ahmedabad) and Dholavira (kutch).
Lothal Discovered in 1954, was exca-
vated from 13 February 1955 to 19 May
1960 by the Archaeological Survey of
India (ASI). Dholavira was excavated
by RS Bisht of ASI and his team in
1990. This city was located where there
was fresh water and fertile soil in the
Rann of Kutch. Indus Valley Civiliza-
tion which is also known as Harappan
civilization was one of the world’s first
great civilizations.

58. (d) Rigveda, also spelled Rgveda,
the oldest of the sacred books of Hindu-
ism, composed in an ancient form of
Sanskrit about 1500 BCE, in what is now
the Punjab region of India and Pakistan.
It consists of a collection of 1,028 poems
grouped into 10 “circles” (mandalas). It
is generally agreed that the first and last
books were created later than the middle
books. The Rigveda was preserved orally
before it was written down about 300
BCE. (See Veda).

59. (b) Bimbisara was the most
remarkable king of the pre Mauryan
dynasties of Magadha. He was a man
with clear perspectives. He used the
policy of marital alliances to expand his
kingdom, a tradition which was not
yet seen in any dynasty. He also used a
policyofsendingenvoystostrengthenthe
bilateral relationships. He send Jivaka,
a Vaidya (doctor) to the king of Avanti
who was suffering from a disease most
probably jaundice.

60. (a)

61. (d) Article 80 of the Constitu-
tion lays down the maximum strength
of Rajya Sabha as 250, out of which 12
members are nominated by the Presi-
dent and 238 are representatives of the
States and of the two Union Territories.
The present strength of Rajya Sabha,
however, is 245, out of which 233 are
representatives of the States and Union
territories of Delhi and Puducherry and
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12 are nominated by the President. The
members nominated by the President
are persons having special knowledge
or practical experience in respect of
such matters as literature, science, art
and social service. The representatives
of the States and of the Union Territo-
ries in the Rajya Sabha are elected by
the method of indirect election. The
representatives of each State and two
Union territories are elected by the
elected members of the Legislative As-
sembly of that State and by the mem-
bers of the Electoral College for that
Union Territory, as the case may be, in
accordance with the system of propor-
tional representation by means of the
single transferable vote.

62. (b) 63.(c)

64. (b) Right to equality is one of
the six fundamental rights in the Indian
constitution. It includes equality before
law, prohibition of discrimination on
grounds of race, religion, gender, and
caste or birth place. Every citizen, from
Prime Minister to an ordinary individual,
is subjected to the same laws.

65. (a) According to the Indian
Constitution, there are six basic Funda-
mental Rights of Indian Citizens, which
areright to equality, right to freedom of
religion, cultural and educational rights,
right to freedom, right to constitutional
remedies and right against exploitation.

66. (c)

67. (c) The chief minister is elected
through a majority in the state legisla-
tive assembly. This is procedurally es-
tablished by the vote of confidence in
the legislative assembly, as suggested
by the governor of the state who is the
appointing authority.

68. (a) The Governor of a State shall
be appointed by the President by war-
rant under his hand and seal (Article
155). A person to be eligible for ap-
pointment as Governor should be citi-
zen of India and has completed age of
35 years (Article 157).

69. (c) Candidates who win the Lok
Sabha elections are called 'Member of
Parliament' and hold their seats for five

years or until the body is dissolved by
the President on the advice of the coun-
cil of ministers.

70. (b) The first citizen of a state is
the governor of the particular state by
default. While the governors are con-
sidered to be the first citizens of a state,
the President, who is responsible for
the election of the governors, is the first
citizen of the country.

The present strength, however, is
245 members of whom 233 are repre-
sentatives of the states and union ter-
ritories and 12 are nominated by the
President. The 12 nominated members
of the Rajya Sabha are persons who
are eminent in particular fields, and are
well known contributors in the particu-
lar field.

71. (*) 72. (c) 73. (b) 74. (a) 75. (c)

76. (c) On the basis of the frame-
work provided by the Cabinet Mission,
a Constituent Assembly was constituted
on 9th December, 1946. The Constitu-
tion making body was elected by the
Provincial Legislative Assembly con-
stituting of 389 members who included
93 from Princely States and 296 from
British India. The seats to the British
Indian provinces and princely states
were allotted in proportion of their re-
spective population and were to be di-
vided among Muslims, Sikhs and rest
of the communities. All sections of the
Indian society got representation in the
Constituent Assembly in spite of lim-
ited suffrage. The first meeting of the
Constituent Assembly took place on
December 9, 1946 at New Delhi with
Dr Sachidanand being elected as the in-
terim President of the Assembly. How-
ever, on December 11, 1946, Dr. Rajen-
dra Prasad was elected as the President
and H.C. Mukherjee as the Vice-Presi-
dent of the Constituent Assembly.

77. (a)

78. (b) India, also known as Bharat,
is a Union of States. It is a Sovereign
Socialist Secular Democratic Republic
with a parliamentary system of gov-
ernment. The Republic is governed in
terms of the Constitution of India which

was adopted by the Constituent As-
sembly on 26th November, 1949 and
came into force on 26th January, 1950.
The Constitution provides for a Parlia-
mentary form of government which is
federal in structure with certain unitary
features.

79. (b) 80. (d) 81. (c) 82. (c) 83.(d)

84. (a) 85. (d) 86. (b) 87. (c) 88.(c)

89. (d) 90. (a)

91.(d) India's IT sector is undertaking
some globalization of its own in search
of new sources of rapid growth.

92. (a) None of the factors given in
A, B and C are correct regarding Indian
IT services attractive to the US.

93. (b) The Indian IT firms has
changed their business module in
developing countries due to the different
demands of these countries, markets.

94, (a) The NASSCOM Statistics
indicates about Indian IT export’s drops
in demand for IT services in Europe and
the US.

95. (c) The option “The US is their
preferred outsourcing destination” is not
a difficulty that Indian IT firms will face
in emerging markets.

96. (b) The factor given in A — “the
recession severely impacted the US but
not India” is not true in the context of
the passage.

97. (d) ‘Pursuing‘ word is the most
similar in meaning to the word “Chasing”
as used in the passage.

98. (b) The word ‘doubtful’ is the
most opposite to the meaning of the word
‘undisputed’ as used in the passage.

99. (b) Emerging markets are driving
IT companies to seek other options.

100. (a) 101.(c) 102.(c)

103.(c) 104.(b) 105.(c)

106. (a) Accuracy does not come
under the principle of selection and
gradation.

107. (c) Polysemy

108. (b) Complex compound
sentence

109. (d) If a student of language is
cramming his/her answers, then he/she
would not be able to attempt writing.
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110. (d) Synthesizing

111. (a) Voice/Pronunciation does not
affect the intonation

112. (¢) Imagination, language,
concept, proposition are involved in
thinking.

113.(b) 114.(d)

115. (b) Demonstrates hesitation to
find word or use correct grammatical
structures.

116. (d)

117. (c) Intensive listening

118. (b) Sematic grouping

119. (a) English

120. (b) Little or no attention is
given to pronunciation in grammar-
translation method.

121. (¢)

122. (¢) 95T T YRER, T 3R
IMTOT ST TH W T T oA o SR
TSTe oF Jal higdl AR S_erd i
a1 wE 2

123. (c) 124. (d)

125. (b) dSE id o G&H H1 TEAEN
T Fal-Gt T SE T i o ST
TR W IAF T8 T&A FW &

126. (a) 7l 30 H&A &1 a9 T8 @
fF 7° 90 FoA TH BR ¥ FOS W
Hifad ® W ¢, T SUR W wAS o
FE TS &l S

127. (b) i3 arra # fofen o6 &
FH H A T IR W A o fdt wm
& B 1 forelt o sifeqe w1 @ty eI E,
3= fafy g a1 faerarss a9 Fed €

128. () T =1 | w1 forerear sam
e TR R wed ¥ SE- T
TAGH], TE HH T

129. (b) WA ¥ f2 TTT S17=s% & STER
forem € TE 1 W, Ao R Y SHRA
B © 3N 39 i o foeres sae wel
Y TEg Hl B

130. (a) fo1erw &1 wE FHad TSTHH
el & B, dfee femneff & oafade w1
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